

ABC Bid Data

BARNSTEAD-ALTON

14121

X-A000(208)

PROJECT: STATE PROJECT NUMBER: FED. PROJECT NUMBER: DATE BIDS OPEN: SCOPE OF WORK: COMPLETION DATE: LOCATION:	BARNSTEAD-ALTON 14121 X-A000(208) September 12, 2019, NH 28 reconstruction of intersection with North Bar June 25, 2021 Belknap	nstead Road/North Road Ar	warded To: mount: ward Date:	MERRILL F L CONSTRUCTION INC 35 VETERANS DRIVE LOUDON, NH 03307 \$4,126,853.00	Certified by:	PETER.E.STAMNAS Director of Project Development	
		Summary of Bidde	rs				
Contractor						Bid Amount	Rank
MERRILL F L CONSTR 35 VETERANS DRI	RUCTION INC VE, LOUDON NH 03307					\$4,126,853.00	A
NORTHEAST EARTH 159 BARNSTEAD F	MECHANICS INC ROAD, PITTSFIELD NH 03263					\$4,345,397.50	В
WEAVER BROS. CON 1629 RTE 3A, BOW						\$4,521,804.75	С
COLEMAN ALVIN J & 9 NH ROUTE 113, 0	SON INC CONWAY NH 03818-9505					\$5,054,515.65	D
SUR CONSTRUCTION 233 Chestnut Hill Re	l, INC. bad, ROCHESTER NH 03867					\$5,104,961.75	E
BUSBY CONSTRUCTI 71 ROUTE 111, AT						\$5,415,981.75	F
SARGENT CORPORA 378 BENNOCH RO	TION AD, PO BOX 435, STILLWATER ME 04	489				\$6,692,734.00	G

				PS&E		MERRILL F L CONSTRUCTION INC 35 VETERANS DRIVE LOUDON, NH 03307		159 BARN	RTH MECHANICS INC STEAD ROAD LD, NH 03263
Item No.	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	Unit Price	Total

201.1	CLEARING AND GRUBBING (F)	А	5.00	\$5,000.00	\$25,000.00	\$10,000.00	\$50,000.00	\$8,500.00	\$42,500.00
201.22	REMOVING LARGE TREES	EA	3.00	\$1,500.00	\$4,500.00	\$900.00	\$2,700.00	\$1,250.00	\$3,750.00
201.881	INVASIVE SPECIES CONTROL TYPE I	SY	310.00	\$8.00	\$2,480.00	\$11.00	\$3,410.00	\$10.00	\$3,100.00
202.41	REMOVAL OF EXISTING PIPE 0-24" DIAMETER	LF	170.00	\$20.00	\$3,400.00	\$18.00	\$3,060.00	\$15.00	\$2,550.00
203.1	COMMON EXCAVATION	СҮ	57,200.00	\$8.50	\$486,200.00	\$6.90	\$394,680.00	\$7.50	\$429,000.00
203.11	COMMON EXCAVATION - LRS	СҮ	4,900.00	\$14.00	\$68,600.00	\$10.10	\$49,490.00	\$9.50	\$46,550.00
203.2	ROCK EXCAVATION	СҮ	1,220.00	\$30.00	\$36,600.00	\$40.00	\$48,800.00	\$7.50	\$9,150.00
203.5561	EAGRT PLATFORM PREFERRED	U	2.00	\$1,175.00	\$2,350.00	\$1,200.00	\$2,400.00	\$1,000.00	\$2,000.00
203.6	EMBANKMENT-IN-PLACE (F)	СҮ	7,850.00	\$4.00	\$31,400.00	\$2.20	\$17,270.00	\$6.50	\$51,025.00
206.1	COMMON STRUCTURE EXCAVATION	СҮ	2,100.00	\$15.00	\$31,500.00	\$6.90	\$14,490.00	\$9.50	\$19,950.00
206.19	COMMON STRUCTURE EXCAVATION EXPLORATORY	СҮ	10.00	\$50.00	\$500.00	\$140.00	\$1,400.00	\$50.00	\$500.00
206.2	ROCK STRUCTURE EXCAVATION	СҮ	50.00	\$80.00	\$4,000.00	\$130.00	\$6,500.00	\$50.00	\$2,500.00
209.1	GRANULAR BACKFILL	СҮ	270.00	\$38.00	\$10,260.00	\$36.00	\$9,720.00	\$20.00	\$5,400.00
214.	FINE GRADING	U	1.00	\$60,000.00	\$60,000.00	\$33,000.00	\$33,000.00	\$75,000.00	\$75,000.00
304.1	SAND (F)	СҮ	9,670.00	\$18.00	\$174,060.00	\$19.20	\$185,664.00	\$17.00	\$164,390.00
304.32	CRUSHED GRAVEL FOR SHOULDER LEVELING	TON	1,450.00	\$45.00	\$65,250.00	\$27.00	\$39,150.00	\$25.00	\$36,250.00
304.4	CRUSHED STONE (FINE GRADATION) (F)	СҮ	5,750.00	\$22.00	\$126,500.00	\$27.00	\$155,250.00	\$24.00	\$138,000.00
304.45	CRUSHED STONE (FINE GRADATION) FOR DRIVES	СҮ	4,000.00	\$30.00	\$120,000.00	\$27.00	\$108,000.00	\$24.00	\$96,000.00
304.499	TEMPORARY CRUSHED STONE (FINE GRADATION)	СҮ	4,400.00	\$30.00	\$132,000.00	\$32.00	\$140,800.00	\$19.00	\$83,600.00
304.5	CRUSHED STONE (COARSE GRADATION) (F)	СҮ	10,830.00	\$22.00	\$238,260.00	\$27.00	\$292,410.00	\$24.00	\$259,920.00
403.11001	HOT BITUMINOUS PAVEMENT, MACHINE METHOD (QC/QA TIER 1)	TON	8,300.00	\$75.00	\$622,500.00	\$71.00	\$589,300.00	\$70.00	\$581,000.00
403.11002	HOT BITUMINOUS PAVEMENT, MACHINE METHOD (QC/QA TIER 2)	TON	900.00	\$78.00	\$70,200.00	\$82.00	\$73,800.00	\$80.00	\$72,000.00
403.12	HOT BITUMINOUS PAVEMENT, HAND METHOD	TON	350.00	\$125.00	\$43,750.00	\$123.00	\$43,050.00	\$120.00	\$42,000.00
403.4	MATERIAL TRANSFER VEHICLE (MTV)	TON	9,200.00	\$1.60	\$14,720.00	\$1.50	\$13,800.00	\$1.50	\$13,800.00
403.6	PAVEMENT JOINT ADHESIVE	LF	21,500.00	\$0.30	\$6,450.00	\$0.23	\$4,945.00	\$0.23	\$4,945.00
403.99	TEMPORARY BITUMINOUS PAVEMENT	TON	1,400.00	\$90.00	\$126,000.00	\$85.00	\$119,000.00	\$70.00	\$98,000.00
410.22	ASPHALT EMULSION FOR TACK COAT	GAL	1,450.00	\$3.20	\$4,640.00	\$3.50	\$5,075.00	\$3.50	\$5,075.00
417.	COLD PLANING BITUMINOUS SURFACES	SY	520.00	\$14.00	\$7,280.00	\$10.00	\$5,200.00	\$10.00	\$5,200.00
503.101	WATER DIVERSION STRUCTURE	U	1.00	\$5,000.00	\$5,000.00	\$4,500.00	\$4,500.00	\$10,000.00	\$10,000.00
503.102	WATER DIVERSION STRUCTURE	U	1.00	\$12,000.00	\$12,000.00	\$9,000.00	\$9,000.00	\$3,500.00	\$3,500.00

					PS&E	35 VETE	CONSTRUCTION INC RANS DRIVE N, NH 03307	159 BAR	RTH MECHANICS INC ISTEAD ROAD ILD, NH 03263
Item No.	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	Unit Price	Total
503.201	COFFERDAMS	U	1.00	\$15,000.00	\$15,000.00	\$11,000.00	\$11,000.00	\$40,000.00	\$40,000.00
503.202	COFFERDAMS	U	1.00	\$15,000.00	\$15,000.00	\$11,000.00	\$11,000.00	\$40,000.00	\$40,000.00
508.	STRUCTURAL FILL	СҮ	110.00	\$58.50	\$6,435.00	\$55.00	\$6,050.00	\$30.00	\$3,300.00
520.12	CONCRETE CLASS A, ABOVE FOOTINGS (F)	СҮ	35.00	\$1,000.00	\$35,000.00	\$1,100.00	\$38,500.00	\$700.00	\$24,500.00
529.8301	PRECAST CONCRETE SPECIAL HEADWALL	U	1.00	\$20,000.00	\$20,000.00	\$34,000.00	\$34,000.00	\$30,000.00	\$30,000.00
529.8302	PRECAST CONCRETE SPECIAL HEADWALL	U	1.00	\$20,000.00	\$20,000.00	\$34,000.00	\$34,000.00	\$30,000.00	\$30,000.00
544.1	REINFORCING STEEL (ROADWAY)	LB	420.00	\$2.00	\$840.00	\$4.00	\$1,680.00	\$3.00	\$1,260.00
572.2	RECONSTRUCTING STONE WALL MULTIPLE STONES WIDE	LF	800.00	\$30.00	\$24,000.00	\$45.00	\$36,000.00	\$20.00	\$16,000.00
585.2	STONE FILL, CLASS B	СҮ	220.00	\$40.00	\$8,800.00	\$50.00	\$11,000.00	\$45.00	\$9,900.00
585.3	STONE FILL, CLASS C	СҮ	30.00	\$50.00	\$1,500.00	\$55.00	\$1,650.00	\$70.00	\$2,100.00
593.421	GEOTEXTILE; PERM CONTROL CL.2, NON-WOVEN	SY	870.00	\$3.00	\$2,610.00	\$3.25	\$2,827.50	\$1.50	\$1,305.00
603.0001	VIDEO INSPECTION	LF	2,615.00	\$1.50	\$3,922.50	\$2.70	\$7,060.50	\$1.50	\$3,922.50
603.00230	30" R.C. PIPE, 2000D	LF	224.00	\$120.00	\$26,880.00	\$125.00	\$28,000.00	\$105.00	\$23,520.00
603.00436	36" R.C. PIPE, 3750D	LF	175.00	\$145.00	\$25,375.00	\$145.00	\$25,375.00	\$145.00	\$25,375.00
603.00454	54" R.C. PIPE, 3750D	LF	100.00	\$215.00	\$21,500.00	\$295.00	\$29,500.00	\$235.00	\$23,500.00
603.34115	15" STEEL END SECTIONS	EA	2.00	\$130.00	\$260.00	\$390.00	\$780.00	\$150.00	\$300.00
603.50015	15" PIPE FOR DRIVES & MINOR APPROACHES	LF	35.00	\$180.00	\$6,300.00	\$51.00	\$1,785.00	\$40.00	\$1,400.00
603.82218	18" PE PIPE (TYPE S)	LF	2,100.00	\$37.00	\$77,700.00	\$59.25	\$124,425.00	\$40.00	\$84,000.00
604.154	CATCH BASINS TYPE E, 4-FOOT DIAMETER	U	12.30	\$2,500.00	\$30,750.00	\$2,900.00	\$35,670.00	\$2,600.00	\$31,980.00
604.155	CATCH BASINS TYPE E, 5-FOOT DIAMETER	U	4.20	\$3,500.00	\$14,700.00	\$3,100.00	\$13,020.00	\$3,100.00	\$13,020.00
604.325	DRAINAGE MANHOLES, 5-FOOT DIAMETER	U	1.00	\$3,400.00	\$3,400.00	\$4,700.00	\$4,700.00	\$4,000.00	\$4,000.00
605.506	6" PERF. CORR. POLYETHYLENE PIPE UNDERDRAIN	LF	6,950.00	\$18.00	\$125,100.00	\$17.70	\$123,015.00	\$17.25	\$119,887.50
605.79	UNDERDRAIN FLUSHING BASINS	EA	35.00	\$400.00	\$14,000.00	\$270.00	\$9,450.00	\$400.00	\$14,000.00
606.1254	BEAM GUARDRAIL (TERMINAL UNIT TYPE EAGRT, TL 3) (STEEL POST)	U	2.00	\$2,075.00	\$4,150.00	\$3,485.00	\$6,970.00	\$3,500.00	\$7,000.00
606.18001	31" W-BEAM GUARDRAIL WITH 8" OFFSET BLOCK (STEEL POST)	LF	200.00	\$25.00	\$5,000.00	\$23.00	\$4,600.00	\$23.00	\$4,600.00
606.183	31" W-BEAM GUARDRAIL LONG SPAN (25') (STEEL POST)	U	1.00	\$4,500.00	\$4,500.00	\$5,850.00	\$5,850.00	\$6,000.00	\$6,000.00
606.417	PORTABLE CONCRETE BARRIER FOR TRAFFIC CONTROL	LF	1,000.00	\$22.00	\$22,000.00	\$27.00	\$27,000.00	\$25.00	\$25,000.00
606.9523	TEMP. IMPACT ATTENUATION DEVICE (NON-REDIRECTIVE) TEST LEVEL 3	U	2.00	\$2,600.00	\$5,200.00	\$6,000.00	\$12,000.00	\$4,500.00	\$9,000.00
615.024	RELOCATING TRAFFIC SIGN TYPE B	U	10.00	\$200.00	\$2,000.00	\$50.00	\$500.00	\$50.00	\$500.00
615.0301	TRAFFIC SIGN TYPE C	SF	150.00	\$32.00	\$4,800.00	\$50.50	\$7,575.00	\$51.00	\$7,650.00
615.033	REMOVING TRAFFIC SIGN, TYPE C	U	41.00	\$50.00	\$2,050.00	\$10.00	\$410.00	\$10.00	\$410.00
615.0601	TRAFFIC SIGN TYPE CC	SF	32.00	\$20.00	\$640.00	\$15.00	\$480.00	\$15.00	\$480.00

					PS&E	35 VETE	CONSTRUCTION INC RANS DRIVE N, NH 03307	NORTHEAST EA 159 BARN PITTSFIE	RTH MECHANICS INC ISTEAD ROAD ELD, NH 03263
Item No.	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	Unit Price	Total
616.201	FLASHING BEACONS	U	1.00	\$15,000.00	\$15,000.00	\$14,250.00	\$14,250.00	\$12,000.00	\$12,000.00
618.61	UNIFORMED OFFICERS WITH VEHICLE	\$	28,000.00	\$1.00	\$28,000.00	\$1.00	\$28,000.00	\$1.00	\$28,000.00
618.7	FLAGGERS	HR	3,500.00	\$25.00	\$87,500.00	\$37.00	\$129,500.00	\$34.00	\$119,000.00
619.1	MAINTENANCE OF TRAFFIC	U	1.00	\$91,177.00	\$91,177.00	\$115,000.00	\$115,000.00	\$200,000.00	\$200,000.00
619.25	PORTABLE CHANGEABLE MESSAGE SIGN	U	3.00	\$8,000.00	\$24,000.00	\$3,300.00	\$9,900.00	\$10,000.00	\$30,000.00
619.27	TRAILER-MOUNTED SPEED LIMIT SIGN	U	2.00	\$3,700.00	\$7,400.00	\$1,700.00	\$3,400.00	\$9,000.00	\$18,000.00
619.55	PORTABLE QUEUE WARNING SYSTEM	MON	36.00	\$4,200.00	\$151,200.00	\$2,800.00	\$100,800.00	\$2,000.00	\$72,000.00
621.2	RETROREFLECTIVE BEAM GUARDRAIL DELINEATOR	EA	12.00	\$4.50	\$54.00	\$5.00	\$60.00	\$5.00	\$60.00
621.31	SINGLE DELINEATOR WITH POST	EA	60.00	\$39.00	\$2,340.00	\$50.00	\$3,000.00	\$48.00	\$2,880.00
621.32	DOUBLE DELINEATOR WITH POST	EA	1.00	\$42.00	\$42.00	\$55.00	\$55.00	\$50.00	\$50.00
622.1	STEEL WITNESS MARKERS	EA	50.00	\$28.00	\$1,400.00	\$45.00	\$2,250.00	\$35.00	\$1,750.00
622.2	CONCRETE BOUNDS	EA	44.00	\$445.00	\$19,580.00	\$245.00	\$10,780.00	\$350.00	\$15,400.00
628.2	SAWED BITUMINOUS PAVEMENT	LF	230.00	\$2.25	\$517.50	\$3.15	\$724.50	\$2.00	\$460.00
632.0104	RETROREFLECTIVE PAINT PAVE. MARKING, 4" LINE	LF	94,100.00	\$0.21	\$19,761.00	\$0.20	\$18,820.00	\$0.25	\$23,525.00
632.3118	RETROREFLECT. THERMOPLAS. PAVE. MARKING, 18" LINE	LF	130.00	\$12.50	\$1,625.00	\$10.00	\$1,300.00	\$15.00	\$1,950.00
641.	LOAM	СҮ	500.00	\$32.00	\$16,000.00	\$21.00	\$10,500.00	\$30.00	\$15,000.00
645.3	EROSION STONE	TON	610.00	\$30.00	\$18,300.00	\$22.65	\$13,816.50	\$18.00	\$10,980.00
645.44	TEMPORARY SLOPE STABILIZATION TYPE D (WILDLIFE FRIENDLY)	SY	9,950.00	\$2.20	\$21,890.00	\$2.00	\$19,900.00	\$1.95	\$19,402.50
645.512	COMPOST SOCK FOR PERIMETER BERM	LF	5,300.00	\$4.25	\$22,525.00	\$5.90	\$31,270.00	\$3.50	\$18,550.00
645.531	SILT FENCE	LF	7,000.00	\$2.40	\$16,800.00	\$2.70	\$18,900.00	\$2.50	\$17,500.00
645.7	STORM WATER POLLUTION PREVENTION PLAN	U	1.00	\$5,000.00	\$5,000.00	\$3,300.00	\$3,300.00	\$7,500.00	\$7,500.00
645.71	MONITORING SWPPP AND EROSION AND SEDIMENT CONTROLS	HR	150.00	\$75.00	\$11,250.00	\$70.00	\$10,500.00	\$100.00	\$15,000.00
646.3	TURF ESTABLISHMENT WITH MULCH AND TACKIFIERS	А	9.00	\$2,000.00	\$18,000.00	\$2,280.00	\$20,520.00	\$2,100.00	\$18,900.00
647.1	HUMUS	СҮ	4,500.00	\$20.00	\$90,000.00	\$15.00	\$67,500.00	\$14.75	\$66,375.00
670.066	MAILBOX SUPPORT ASSEMBLIES	EA	11.00	\$230.00	\$2,530.00	\$220.00	\$2,420.00	\$200.00	\$2,200.00
670.0661	MULTIPLE MAILBOXES SUPPORT ASSEMBLIES	EA	2.00	\$400.00	\$800.00	\$325.00	\$650.00	\$300.00	\$600.00
670.104	TEMPORARY PORTABLE LIGHTING	U	3.00	\$2,800.00	\$8,400.00	\$6,000.00	\$18,000.00	\$6,500.00	\$19,500.00
670.822	GNSS CONSTRUCTION INSPECTION EQUIPMENT	U	1.00	\$25,000.00	\$25,000.00	\$17,000.00	\$17,000.00	\$20,000.00	\$20,000.00
670.95	TEMPORARY SAFETY FENCE	LF	500.00	\$3.00	\$1,500.00	\$5.00	\$2,500.00	\$2.50	\$1,250.00
692.	MOBILIZATION	U	1.00	\$200,000.00	\$200,000.00	\$150,000.00	\$150,000.00	\$500,000.00	\$500,000.00
697.11	INVASIVE SPECIES CONTROL AND MANAGEMENT PLAN	U	1.00	\$2,000.00	\$2,000.00	\$2,000.00	\$2,000.00	\$600.00	\$600.00
697.31	PROJECT OPERATIONS PLAN	U	1.00	\$1,500.00	\$1,500.00	\$5,000.00	\$5,000.00	\$2,500.00	\$2,500.00

					PS&E	35 VETE	ONSTRUCTION INC RANS DRIVE N, NH 03307	159 BARM	RTH MECHANICS INC ISTEAD ROAD ELD, NH 03263
Item No.	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	Unit Price	Total
698.13	FIELD OFFICE TYPE C	MON	23.00	\$1,650.00	\$37,950.00	\$2,500.00	\$57,500.00	\$1,600.00	\$36,800.00
698.2	PHYSICAL TESTING LABORATORY	MON	21.00	\$500.00	\$10,500.00	\$1,800.00	\$37,800.00	\$900.00	\$18,900.00
699.	MISCELLANEOUS TEMPORARY EROSION AND SEDIMENT CONTROL	\$	20,000.00	\$1.00	\$20,000.00	\$1.00	\$20,000.00	\$1.00	\$20,000.00
1010.15	FUEL ADJUSTMENT	\$	40,000.00	\$1.00	\$40,000.00	\$1.00	\$40,000.00	\$1.00	\$40,000.00
1010.2	ASPHALT CEMENT ADJUSTMENT	\$	25,000.00	\$1.00	\$25,000.00	\$1.00	\$25,000.00	\$1.00	\$25,000.00
1010.3	QUALITY CONTROL QUALITY ASSURANCE (QC/QA) ASPHALT	\$	33,200.00	\$1.00	\$33,200.00	\$1.00	\$33,200.00	\$1.00	\$33,200.00
			Totals:		\$4,162,554.00		\$4,126,853.00		\$4,345,397.50
			Alt. Totals:						

Totals: \$4,162,554.00 \$4,126,853.00 \$4,345,397.50

					PS&E		WEAVER BROS. CONST. CO., INC. 1629 RTE 3A BOW, NH 03304		9 NH R	VIN J & SON INC OUTE 113 NH 03818-9505
Ite	em No.	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	Unit Price	Total

	-								
201.1	CLEARING AND GRUBBING (F)	А	5.00	\$5,000.00	\$25,000.00	\$15,500.00	\$77,500.00	\$6,600.00	\$33,000.00
201.22	REMOVING LARGE TREES	EA	3.00	\$1,500.00	\$4,500.00	\$2,450.00	\$7,350.00	\$2,300.00	\$6,900.00
201.881	INVASIVE SPECIES CONTROL TYPE I	SY	310.00	\$8.00	\$2,480.00	\$4.00	\$1,240.00	\$10.40	\$3,224.00
202.41	REMOVAL OF EXISTING PIPE 0-24" DIAMETER	LF	170.00	\$20.00	\$3,400.00	\$13.15	\$2,235.50	\$40.90	\$6,953.00
203.1	COMMON EXCAVATION	СҮ	57,200.00	\$8.50	\$486,200.00	\$8.30	\$474,760.00	\$11.10	\$634,920.00
203.11	COMMON EXCAVATION - LRS	СҮ	4,900.00	\$14.00	\$68,600.00	\$9.00	\$44,100.00	\$11.10	\$54,390.00
203.2	ROCK EXCAVATION	СҮ	1,220.00	\$30.00	\$36,600.00	\$29.00	\$35,380.00	\$25.40	\$30,988.00
203.5561	EAGRT PLATFORM PREFERRED	U	2.00	\$1,175.00	\$2,350.00	\$1,025.00	\$2,050.00	\$1,800.00	\$3,600.00
203.6	EMBANKMENT-IN-PLACE (F)	СҮ	7,850.00	\$4.00	\$31,400.00	\$7.00	\$54,950.00	\$11.00	\$86,350.00
206.1	COMMON STRUCTURE EXCAVATION	СҮ	2,100.00	\$15.00	\$31,500.00	\$19.50	\$40,950.00	\$22.50	\$47,250.00
206.19	COMMON STRUCTURE EXCAVATION EXPLORATORY	СҮ	10.00	\$50.00	\$500.00	\$95.00	\$950.00	\$51.10	\$511.00
206.2	ROCK STRUCTURE EXCAVATION	СҮ	50.00	\$80.00	\$4,000.00	\$75.00	\$3,750.00	\$110.00	\$5,500.00
209.1	GRANULAR BACKFILL	СҮ	270.00	\$38.00	\$10,260.00	\$55.00	\$14,850.00	\$35.80	\$9,666.00
214.	FINE GRADING	U	1.00	\$60,000.00	\$60,000.00	\$56,000.00	\$56,000.00	\$51,000.00	\$51,000.00
304.1	SAND (F)	СҮ	9,670.00	\$18.00	\$174,060.00	\$24.00	\$232,080.00	\$20.50	\$198,235.00
304.32	CRUSHED GRAVEL FOR SHOULDER LEVELING	TON	1,450.00	\$45.00	\$65,250.00	\$20.50	\$29,725.00	\$25.40	\$36,830.00
304.4	CRUSHED STONE (FINE GRADATION) (F)	СҮ	5,750.00	\$22.00	\$126,500.00	\$36.50	\$209,875.00	\$32.70	\$188,025.00
304.45	CRUSHED STONE (FINE GRADATION) FOR DRIVES	СҮ	4,000.00	\$30.00	\$120,000.00	\$10.00	\$40,000.00	\$30.70	\$122,800.00
304.499	TEMPORARY CRUSHED STONE (FINE GRADATION)	СҮ	4,400.00	\$30.00	\$132,000.00	\$21.00	\$92,400.00	\$29.50	\$129,800.00
304.5	CRUSHED STONE (COARSE GRADATION) (F)	СҮ	10,830.00	\$22.00	\$238,260.00	\$36.50	\$395,295.00	\$31.70	\$343,311.00
403.11001	HOT BITUMINOUS PAVEMENT, MACHINE METHOD (QC/QA TIER 1)	TON	8,300.00	\$75.00	\$622,500.00	\$72.00	\$597,600.00	\$72.10	\$598,430.00
403.11002	HOT BITUMINOUS PAVEMENT, MACHINE METHOD (QC/QA TIER 2)	TON	900.00	\$78.00	\$70,200.00	\$81.00	\$72,900.00	\$82.90	\$74,610.00
403.12	HOT BITUMINOUS PAVEMENT, HAND METHOD	TON	350.00	\$125.00	\$43,750.00	\$125.00	\$43,750.00	\$125.00	\$43,750.00
403.4	MATERIAL TRANSFER VEHICLE (MTV)	TON	9,200.00	\$1.60	\$14,720.00	\$1.85	\$17,020.00	\$1.55	\$14,260.00
403.6	PAVEMENT JOINT ADHESIVE	LF	21,500.00	\$0.30	\$6,450.00	\$0.58	\$12,470.00	\$0.25	\$5,375.00
403.99	TEMPORARY BITUMINOUS PAVEMENT	TON	1,400.00	\$90.00	\$126,000.00	\$62.50	\$87,500.00	\$88.10	\$123,340.00
410.22	ASPHALT EMULSION FOR TACK COAT	GAL	1,450.00	\$3.20	\$4,640.00	\$4.20	\$6,090.00	\$3.65	\$5,292.50
417.	COLD PLANING BITUMINOUS SURFACES	SY	520.00	\$14.00	\$7,280.00	\$11.00	\$5,720.00	\$10.40	\$5,408.00
503.101	WATER DIVERSION STRUCTURE	U	1.00	\$5,000.00	\$5,000.00	\$8,000.00	\$8,000.00	\$12,500.00	\$12,500.00
503.102	WATER DIVERSION STRUCTURE	U	1.00	\$12,000.00	\$12,000.00	\$19,750.00	\$19,750.00	\$20,500.00	\$20,500.00

					PS&E	162	S. CONST. CO., INC. 9 RTE 3A , NH 03304	9 NH I	LVIN J & SON INC ROUTE 113 NH 03818-9505
Item No.	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	Unit Price	Total
503.201	COFFERDAMS	U	1.00	\$15,000.00	\$15,000.00	\$19,925.00	\$19,925.00	\$19,000.00	\$19,000.00
503.202	COFFERDAMS	U	1.00	\$15,000.00	\$15,000.00	\$19,925.00	\$19,925.00	\$19,000.00	\$19,000.00
508.	STRUCTURAL FILL	СҮ	110.00	\$58.50	\$6,435.00	\$61.50	\$6,765.00	\$37.00	\$4,070.00
520.12	CONCRETE CLASS A, ABOVE FOOTINGS (F)	СҮ	35.00	\$1,000.00	\$35,000.00	\$975.00	\$34,125.00	\$1,200.00	\$42,000.00
529.8301	PRECAST CONCRETE SPECIAL HEADWALL	U	1.00	\$20,000.00	\$20,000.00	\$30,000.00	\$30,000.00	\$31,000.00	\$31,000.00
529.8302	PRECAST CONCRETE SPECIAL HEADWALL	U	1.00	\$20,000.00	\$20,000.00	\$30,000.00	\$30,000.00	\$31,000.00	\$31,000.00
544.1	REINFORCING STEEL (ROADWAY)	LB	420.00	\$2.00	\$840.00	\$1.25	\$525.00	\$5.10	\$2,142.00
572.2	RECONSTRUCTING STONE WALL MULTIPLE STONES WIDE	LF	800.00	\$30.00	\$24,000.00	\$55.00	\$44,000.00	\$20.70	\$16,560.00
585.2	STONE FILL, CLASS B	СҮ	220.00	\$40.00	\$8,800.00	\$54.00	\$11,880.00	\$51.60	\$11,352.00
585.3	STONE FILL, CLASS C	СҮ	30.00	\$50.00	\$1,500.00	\$100.00	\$3,000.00	\$48.50	\$1,455.00
593.421	GEOTEXTILE; PERM CONTROL CL.2, NON-WOVEN	SY	870.00	\$3.00	\$2,610.00	\$2.00	\$1,740.00	\$3.05	\$2,653.50
603.0001	VIDEO INSPECTION	LF	2,615.00	\$1.50	\$3,922.50	\$1.35	\$3,530.25	\$1.55	\$4,053.25
603.00230	30" R.C. PIPE, 2000D	LF	224.00	\$120.00	\$26,880.00	\$193.00	\$43,232.00	\$125.00	\$28,000.00
603.00436	36" R.C. PIPE, 3750D	LF	175.00	\$145.00	\$25,375.00	\$207.00	\$36,225.00	\$160.00	\$28,000.00
603.00454	54" R.C. PIPE, 3750D	LF	100.00	\$215.00	\$21,500.00	\$375.00	\$37,500.00	\$790.00	\$79,000.00
603.34115	15" STEEL END SECTIONS	EA	2.00	\$130.00	\$260.00	\$192.00	\$384.00	\$255.00	\$510.00
603.50015	15" PIPE FOR DRIVES & MINOR APPROACHES	LF	35.00	\$180.00	\$6,300.00	\$91.00	\$3,185.00	\$40.90	\$1,431.50
603.82218	18" PE PIPE (TYPE S)	LF	2,100.00	\$37.00	\$77,700.00	\$68.75	\$144,375.00	\$55.70	\$116,970.00
604.154	CATCH BASINS TYPE E, 4-FOOT DIAMETER	U	12.30	\$2,500.00	\$30,750.00	\$2,200.00	\$27,060.00	\$2,500.00	\$30,750.00
604.155	CATCH BASINS TYPE E, 5-FOOT DIAMETER	U	4.20	\$3,500.00	\$14,700.00	\$2,625.00	\$11,025.00	\$2,900.00	\$12,180.00
604.325	DRAINAGE MANHOLES, 5-FOOT DIAMETER	U	1.00	\$3,400.00	\$3,400.00	\$2,850.00	\$2,850.00	\$3,400.00	\$3,400.00
605.506	6" PERF. CORR. POLYETHYLENE PIPE UNDERDRAIN	LF	6,950.00	\$18.00	\$125,100.00	\$20.00	\$139,000.00	\$25.70	\$178,615.00
605.79	UNDERDRAIN FLUSHING BASINS	EA	35.00	\$400.00	\$14,000.00	\$355.00	\$12,425.00	\$415.00	\$14,525.00
606.1254	BEAM GUARDRAIL (TERMINAL UNIT TYPE EAGRT, TL 3) (STEEL POST)	U	2.00	\$2,075.00	\$4,150.00	\$3,850.00	\$7,700.00	\$3,600.00	\$7,200.00
606.18001	31" W-BEAM GUARDRAIL WITH 8" OFFSET BLOCK (STEEL POST)	LF	200.00	\$25.00	\$5,000.00	\$25.30	\$5,060.00	\$23.80	\$4,760.00
606.183	31" W-BEAM GUARDRAIL LONG SPAN (25') (STEEL POST)	U	1.00	\$4,500.00	\$4,500.00	\$6,435.00	\$6,435.00	\$6,100.00	\$6,100.00
606.417	PORTABLE CONCRETE BARRIER FOR TRAFFIC CONTROL	LF	1,000.00	\$22.00	\$22,000.00	\$13.25	\$13,250.00	\$53.30	\$53,300.00
606.9523	TEMP. IMPACT ATTENUATION DEVICE (NON-REDIRECTIVE) TEST LEVEL 3	U	2.00	\$2,600.00	\$5,200.00	\$3,750.00	\$7,500.00	\$5,900.00	\$11,800.00
615.024	RELOCATING TRAFFIC SIGN TYPE B	U	10.00	\$200.00	\$2,000.00	\$165.00	\$1,650.00	\$51.80	\$518.00
615.0301	TRAFFIC SIGN TYPE C	SF	150.00	\$32.00	\$4,800.00	\$38.00	\$5,700.00	\$51.80	\$7,770.00
615.033	REMOVING TRAFFIC SIGN, TYPE C	U	41.00	\$50.00	\$2,050.00	\$16.00	\$656.00	\$10.40	\$426.40
615.0601	TRAFFIC SIGN TYPE CC	SF	32.00	\$20.00	\$640.00	\$40.00	\$1,280.00	\$15.50	\$496.00

					PS&E	162	S. CONST. CO., INC. 9 RTE 3A , NH 03304	COLEMAN A 9 NH 1 CONWAY,	LVIN J & SON INC ROUTE 113 NH 03818-9505
Item No.	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	Unit Price	Total
616.201	FLASHING BEACONS	U	1.00	\$15,000.00	\$15,000.00	\$15,500.00	\$15,500.00	\$11,500.00	\$11,500.00
618.61	UNIFORMED OFFICERS WITH VEHICLE	\$	28,000.00	\$1.00	\$28,000.00	\$1.00	\$28,000.00	\$1.00	\$28,000.00
618.7	FLAGGERS	HR	3,500.00	\$25.00	\$87,500.00	\$40.00	\$140,000.00	\$50.00	\$175,000.00
619.1	MAINTENANCE OF TRAFFIC	U	1.00	\$91,177.00	\$91,177.00	\$99,500.00	\$99,500.00	\$104,000.00	\$104,000.00
619.25	PORTABLE CHANGEABLE MESSAGE SIGN	U	3.00	\$8,000.00	\$24,000.00	\$6,000.00	\$18,000.00	\$7,100.00	\$21,300.00
619.27	TRAILER-MOUNTED SPEED LIMIT SIGN	U	2.00	\$3,700.00	\$7,400.00	\$2,500.00	\$5,000.00	\$4,700.00	\$9,400.00
619.55	PORTABLE QUEUE WARNING SYSTEM	MON	36.00	\$4,200.00	\$151,200.00	\$2,800.00	\$100,800.00	\$2,800.00	\$100,800.00
621.2	RETROREFLECTIVE BEAM GUARDRAIL DELINEATOR	EA	12.00	\$4.50	\$54.00	\$6.00	\$72.00	\$5.20	\$62.40
621.31	SINGLE DELINEATOR WITH POST	EA	60.00	\$39.00	\$2,340.00	\$53.00	\$3,180.00	\$49.70	\$2,982.00
621.32	DOUBLE DELINEATOR WITH POST	EA	1.00	\$42.00	\$42.00	\$60.00	\$60.00	\$46.60	\$46.60
622.1	STEEL WITNESS MARKERS	EA	50.00	\$28.00	\$1,400.00	\$38.50	\$1,925.00	\$51.80	\$2,590.00
622.2	CONCRETE BOUNDS	EA	44.00	\$445.00	\$19,580.00	\$385.00	\$16,940.00	\$260.00	\$11,440.00
628.2	SAWED BITUMINOUS PAVEMENT	LF	230.00	\$2.25	\$517.50	\$1.50	\$345.00	\$4.15	\$954.50
632.0104	RETROREFLECTIVE PAINT PAVE. MARKING, 4" LINE	LF	94,100.00	\$0.21	\$19,761.00	\$0.20	\$18,820.00	\$0.15	\$14,115.00
632.3118	RETROREFLECT. THERMOPLAS. PAVE. MARKING, 18" LINE	LF	130.00	\$12.50	\$1,625.00	\$11.00	\$1,430.00	\$8.30	\$1,079.00
641.	LOAM	СҮ	500.00	\$32.00	\$16,000.00	\$30.00	\$15,000.00	\$28.40	\$14,200.00
645.3	EROSION STONE	TON	610.00	\$30.00	\$18,300.00	\$24.50	\$14,945.00	\$25.50	\$15,555.00
645.44	TEMPORARY SLOPE STABILIZATION TYPE D (WILDLIFE FRIENDLY)	SY	9,950.00	\$2.20	\$21,890.00	\$2.50	\$24,875.00	\$2.20	\$21,890.00
645.512	COMPOST SOCK FOR PERIMETER BERM	LF	5,300.00	\$4.25	\$22,525.00	\$4.30	\$22,790.00	\$4.10	\$21,730.00
645.531	SILT FENCE	LF	7,000.00	\$2.40	\$16,800.00	\$2.50	\$17,500.00	\$2.60	\$18,200.00
645.7	STORM WATER POLLUTION PREVENTION PLAN	U	1.00	\$5,000.00	\$5,000.00	\$7,000.00	\$7,000.00	\$6,200.00	\$6,200.00
645.71	MONITORING SWPPP AND EROSION AND SEDIMENT CONTROLS	HR	150.00	\$75.00	\$11,250.00	\$115.00	\$17,250.00	\$115.00	\$17,250.00
646.3	TURF ESTABLISHMENT WITH MULCH AND TACKIFIERS	Α	9.00	\$2,000.00	\$18,000.00	\$2,400.00	\$21,600.00	\$2,400.00	\$21,600.00
647.1	нимиѕ	СҮ	4,500.00	\$20.00	\$90,000.00	\$20.25	\$91,125.00	\$16.70	\$75,150.00
670.066	MAILBOX SUPPORT ASSEMBLIES	EA	11.00	\$230.00	\$2,530.00	\$150.00	\$1,650.00	\$260.00	\$2,860.00
670.0661	MULTIPLE MAILBOXES SUPPORT ASSEMBLIES	EA	2.00	\$400.00	\$800.00	\$300.00	\$600.00	\$415.00	\$830.00
670.104	TEMPORARY PORTABLE LIGHTING	U	3.00	\$2,800.00	\$8,400.00	\$2,750.00	\$8,250.00	\$20,500.00	\$61,500.00
670.822	GNSS CONSTRUCTION INSPECTION EQUIPMENT	U	1.00	\$25,000.00	\$25,000.00	\$15,000.00	\$15,000.00	\$25,500.00	\$25,500.00
670.95	TEMPORARY SAFETY FENCE	LF	500.00	\$3.00	\$1,500.00	\$5.00	\$2,500.00	\$3.05	\$1,525.00
692.	MOBILIZATION	U	1.00	\$200,000.00	\$200,000.00	\$220,000.00	\$220,000.00	\$405,000.00	\$405,000.00
697.11	INVASIVE SPECIES CONTROL AND MANAGEMENT PLAN	U	1.00	\$2,000.00	\$2,000.00	\$2,300.00	\$2,300.00	\$2,200.00	\$2,200.00
697.31	PROJECT OPERATIONS PLAN	U	1.00	\$1,500.00	\$1,500.00	\$4,200.00	\$4,200.00	\$3,900.00	\$3,900.00

					PS&E	1629	S. CONST. CO., INC. 9 RTE 3A NH 03304	9 NH I	LVIN J & SON INC ROUTE 113 NH 03818-9505
Item No.	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	Unit Price	Total
698.13	FIELD OFFICE TYPE C	MON	23.00	\$1,650.00	\$37,950.00	\$2,100.00	\$48,300.00	\$2,000.00	\$46,000.00
698.2	PHYSICAL TESTING LABORATORY	MON	21.00	\$500.00	\$10,500.00	\$1,000.00	\$21,000.00	\$1,200.00	\$25,200.00
699.	MISCELLANEOUS TEMPORARY EROSION AND SEDIMENT CONTROL	\$	20,000.00	\$1.00	\$20,000.00	\$1.00	\$20,000.00	\$1.00	\$20,000.00
1010.15	FUEL ADJUSTMENT	\$	40,000.00	\$1.00	\$40,000.00	\$1.00	\$40,000.00	\$1.00	\$40,000.00
1010.2	ASPHALT CEMENT ADJUSTMENT	\$	25,000.00	\$1.00	\$25,000.00	\$1.00	\$25,000.00	\$1.00	\$25,000.00
1010.3	QUALITY CONTROL QUALITY ASSURANCE (QC/QA) ASPHALT	\$	33,200.00	\$1.00	\$33,200.00	\$1.00	\$33,200.00	\$1.00	\$33,200.00
			Totals:		\$4,162,554.00		\$4,521,804.75		\$5,054,515.65
			Alt. Totals:						

Totals: \$4,162,554.00 \$4,521,804.75 \$5,054,515.65

					P	S&E	233 Chest	RUCTION, INC. nut Hill Road rr, NH 03867	71 RC	RUCTION CO., INC. DUTE 111 N, NH 03811
Item No.	Des	scription	Unit	Quantity	Unit Price	Total	Unit Price	Total	Unit Price	Total

201.1	CLEARING AND GRUBBING (F)	А	5.00	\$5,000.00	\$25,000.00	\$20,000.00	\$100,000.00	\$4,500.00	\$22,500.00
201.22	REMOVING LARGE TREES	EA	3.00	\$1,500.00	\$4,500.00	\$2,000.00	\$6,000.00	\$2,200.00	\$6,600.00
201.881	INVASIVE SPECIES CONTROL TYPE I	SY	310.00	\$8.00	\$2,480.00	\$2.00	\$620.00	\$10.00	\$3,100.00
202.41	REMOVAL OF EXISTING PIPE 0-24" DIAMETER	LF	170.00	\$20.00	\$3,400.00	\$15.00	\$2,550.00	\$20.00	\$3,400.00
203.1	COMMON EXCAVATION	СҮ	57,200.00	\$8.50	\$486,200.00	\$10.25	\$586,300.00	\$12.00	\$686,400.00
203.11	COMMON EXCAVATION - LRS	СҮ	4,900.00	\$14.00	\$68,600.00	\$11.50	\$56,350.00	\$12.00	\$58,800.00
203.2	ROCK EXCAVATION	СҮ	1,220.00	\$30.00	\$36,600.00	\$19.00	\$23,180.00	\$85.00	\$103,700.00
203.5561	EAGRT PLATFORM PREFERRED	U	2.00	\$1,175.00	\$2,350.00	\$1,645.00	\$3,290.00	\$1,200.00	\$2,400.00
203.6	EMBANKMENT-IN-PLACE (F)	СҮ	7,850.00	\$4.00	\$31,400.00	\$8.50	\$66,725.00	\$10.00	\$78,500.00
206.1	COMMON STRUCTURE EXCAVATION	СҮ	2,100.00	\$15.00	\$31,500.00	\$33.50	\$70,350.00	\$20.00	\$42,000.00
206.19	COMMON STRUCTURE EXCAVATION EXPLORATORY	СҮ	10.00	\$50.00	\$500.00	\$33.50	\$335.00	\$75.00	\$750.00
206.2	ROCK STRUCTURE EXCAVATION	СҮ	50.00	\$80.00	\$4,000.00	\$50.00	\$2,500.00	\$250.00	\$12,500.00
209.1	GRANULAR BACKFILL	СҮ	270.00	\$38.00	\$10,260.00	\$45.00	\$12,150.00	\$35.00	\$9,450.00
214.	FINE GRADING	U	1.00	\$60,000.00	\$60,000.00	\$37,110.00	\$37,110.00	\$55,000.00	\$55,000.00
304.1	SAND (F)	СҮ	9,670.00	\$18.00	\$174,060.00	\$18.50	\$178,895.00	\$20.00	\$193,400.00
304.32	CRUSHED GRAVEL FOR SHOULDER LEVELING	TON	1,450.00	\$45.00	\$65,250.00	\$35.50	\$51,475.00	\$22.00	\$31,900.00
304.4	CRUSHED STONE (FINE GRADATION) (F)	СҮ	5,750.00	\$22.00	\$126,500.00	\$27.50	\$158,125.00	\$28.00	\$161,000.00
304.45	CRUSHED STONE (FINE GRADATION) FOR DRIVES	СҮ	4,000.00	\$30.00	\$120,000.00	\$27.50	\$110,000.00	\$45.00	\$180,000.00
304.499	TEMPORARY CRUSHED STONE (FINE GRADATION)	СҮ	4,400.00	\$30.00	\$132,000.00	\$27.50	\$121,000.00	\$45.00	\$198,000.00
304.5	CRUSHED STONE (COARSE GRADATION) (F)	СҮ	10,830.00	\$22.00	\$238,260.00	\$27.50	\$297,825.00	\$28.00	\$303,240.00
403.11001	HOT BITUMINOUS PAVEMENT, MACHINE METHOD (QC/QA TIER 1)	TON	8,300.00	\$75.00	\$622,500.00	\$70.00	\$581,000.00	\$71.50	\$593,450.00
403.11002	HOT BITUMINOUS PAVEMENT, MACHINE METHOD (QC/QA TIER 2)	TON	900.00	\$78.00	\$70,200.00	\$80.00	\$72,000.00	\$80.00	\$72,000.00
403.12	HOT BITUMINOUS PAVEMENT, HAND METHOD	TON	350.00	\$125.00	\$43,750.00	\$120.00	\$42,000.00	\$125.00	\$43,750.00
403.4	MATERIAL TRANSFER VEHICLE (MTV)	TON	9,200.00	\$1.60	\$14,720.00	\$1.50	\$13,800.00	\$2.10	\$19,320.00
403.6	PAVEMENT JOINT ADHESIVE	LF	21,500.00	\$0.30	\$6,450.00	\$0.25	\$5,375.00	\$0.55	\$11,825.00
403.99	TEMPORARY BITUMINOUS PAVEMENT	TON	1,400.00	\$90.00	\$126,000.00	\$85.00	\$119,000.00	\$130.00	\$182,000.00
410.22	ASPHALT EMULSION FOR TACK COAT	GAL	1,450.00	\$3.20	\$4,640.00	\$3.50	\$5,075.00	\$4.25	\$6,162.50
417.	COLD PLANING BITUMINOUS SURFACES	SY	520.00	\$14.00	\$7,280.00	\$10.00	\$5,200.00	\$20.00	\$10,400.00
503.101	WATER DIVERSION STRUCTURE	U	1.00	\$5,000.00	\$5,000.00	\$50,000.00	\$50,000.00	\$25,000.00	\$25,000.00
503.102	WATER DIVERSION STRUCTURE	U	1.00	\$12,000.00	\$12,000.00	\$50,000.00	\$50,000.00	\$40,000.00	\$40,000.00

					PS&E	233 Ches	STRUCTION, INC. stnut Hill Road ter, NH 03867	BUSBY CONST 71 R ATKINS	RUCTION CO., INC. OUTE 111 DN, NH 03811
Item No.	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	Unit Price	Total
503.201	COFFERDAMS	U	1.00	\$15,000.00	\$15,000.00	\$75,000.00	\$75,000.00	\$35,000.00	\$35,000.00
503.202	COFFERDAMS	U	1.00	\$15,000.00	\$15,000.00	\$75,000.00	\$75,000.00	\$50,000.00	\$50,000.00
508.	STRUCTURAL FILL	СҮ	110.00	\$58.50	\$6,435.00	\$63.50	\$6,985.00	\$50.00	\$5,500.00
520.12	CONCRETE CLASS A, ABOVE FOOTINGS (F)	СҮ	35.00	\$1,000.00	\$35,000.00	\$1,165.00	\$40,775.00	\$1,500.00	\$52,500.00
529.8301	PRECAST CONCRETE SPECIAL HEADWALL	U	1.00	\$20,000.00	\$20,000.00	\$35,000.00	\$35,000.00	\$40,000.00	\$40,000.00
529.8302	PRECAST CONCRETE SPECIAL HEADWALL	U	1.00	\$20,000.00	\$20,000.00	\$35,000.00	\$35,000.00	\$35,000.00	\$35,000.00
544.1	REINFORCING STEEL (ROADWAY)	LB	420.00	\$2.00	\$840.00	\$5.00	\$2,100.00	\$2.00	\$840.00
572.2	RECONSTRUCTING STONE WALL MULTIPLE STONES WIDE	LF	800.00	\$30.00	\$24,000.00	\$15.00	\$12,000.00	\$55.00	\$44,000.00
585.2	STONE FILL, CLASS B	СҮ	220.00	\$40.00	\$8,800.00	\$57.00	\$12,540.00	\$50.00	\$11,000.00
585.3	STONE FILL, CLASS C	СҮ	30.00	\$50.00	\$1,500.00	\$57.00	\$1,710.00	\$50.00	\$1,500.00
593.421	GEOTEXTILE; PERM CONTROL CL.2, NON-WOVEN	SY	870.00	\$3.00	\$2,610.00	\$1.00	\$870.00	\$2.25	\$1,957.50
603.0001	VIDEO INSPECTION	LF	2,615.00	\$1.50	\$3,922.50	\$1.25	\$3,268.75	\$2.25	\$5,883.75
603.00230	30" R.C. PIPE, 2000D	LF	224.00	\$120.00	\$26,880.00	\$175.00	\$39,200.00	\$135.00	\$30,240.00
603.00436	36" R.C. PIPE, 3750D	LF	175.00	\$145.00	\$25,375.00	\$195.00	\$34,125.00	\$225.00	\$39,375.00
603.00454	54" R.C. PIPE, 3750D	LF	100.00	\$215.00	\$21,500.00	\$395.00	\$39,500.00	\$325.00	\$32,500.00
603.34115	15" STEEL END SECTIONS	EA	2.00	\$130.00	\$260.00	\$250.00	\$500.00	\$175.00	\$350.00
603.50015	15" PIPE FOR DRIVES & MINOR APPROACHES	LF	35.00	\$180.00	\$6,300.00	\$60.00	\$2,100.00	\$50.00	\$1,750.00
603.82218	18" PE PIPE (TYPE S)	LF	2,100.00	\$37.00	\$77,700.00	\$70.00	\$147,000.00	\$95.00	\$199,500.00
604.154	CATCH BASINS TYPE E, 4-FOOT DIAMETER	U	12.30	\$2,500.00	\$30,750.00	\$4,590.00	\$56,457.00	\$2,800.00	\$34,440.00
604.155	CATCH BASINS TYPE E, 5-FOOT DIAMETER	U	4.20	\$3,500.00	\$14,700.00	\$5,340.00	\$22,428.00	\$3,500.00	\$14,700.00
604.325	DRAINAGE MANHOLES, 5-FOOT DIAMETER	U	1.00	\$3,400.00	\$3,400.00	\$4,730.00	\$4,730.00	\$3,600.00	\$3,600.00
605.506	6" PERF. CORR. POLYETHYLENE PIPE UNDERDRAIN	LF	6,950.00	\$18.00	\$125,100.00	\$30.50	\$211,975.00	\$20.00	\$139,000.00
605.79	UNDERDRAIN FLUSHING BASINS	EA	35.00	\$400.00	\$14,000.00	\$205.00	\$7,175.00	\$450.00	\$15,750.00
606.1254	BEAM GUARDRAIL (TERMINAL UNIT TYPE EAGRT, TL 3) (STEEL POST)	U	2.00	\$2,075.00	\$4,150.00	\$3,485.00	\$6,970.00	\$3,700.00	\$7,400.00
606.18001	31" W-BEAM GUARDRAIL WITH 8" OFFSET BLOCK (STEEL POST)	LF	200.00	\$25.00	\$5,000.00	\$23.00	\$4,600.00	\$25.00	\$5,000.00
606.183	31" W-BEAM GUARDRAIL LONG SPAN (25') (STEEL POST)	U	1.00	\$4,500.00	\$4,500.00	\$5,850.00	\$5,850.00	\$6,200.00	\$6,200.00
606.417	PORTABLE CONCRETE BARRIER FOR TRAFFIC CONTROL	LF	1,000.00	\$22.00	\$22,000.00	\$30.00	\$30,000.00	\$40.00	\$40,000.00
606.9523	TEMP. IMPACT ATTENUATION DEVICE (NON-REDIRECTIVE) TEST LEVEL 3	U	2.00	\$2,600.00	\$5,200.00	\$9,300.00	\$18,600.00	\$4,500.00	\$9,000.00
615.024	RELOCATING TRAFFIC SIGN TYPE B	U	10.00	\$200.00	\$2,000.00	\$175.00	\$1,750.00	\$300.00	\$3,000.00
615.0301	TRAFFIC SIGN TYPE C	SF	150.00	\$32.00	\$4,800.00	\$42.00	\$6,300.00	\$65.00	\$9,750.00
615.033	REMOVING TRAFFIC SIGN, TYPE C	U	41.00	\$50.00	\$2,050.00	\$32.00	\$1,312.00	\$75.00	\$3,075.00
615.0601	TRAFFIC SIGN TYPE CC	SF	32.00	\$20.00	\$640.00	\$14.75	\$472.00	\$65.00	\$2,080.00

					PS&E	233 Ches	TRUCTION, INC. stnut Hill Road ter, NH 03867	BUSBY CONST 71 R ATKINS	RUCTION CO., INC. OUTE 111 DN, NH 03811
Item No.	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	Unit Price	Total
616.201	FLASHING BEACONS	U	1.00	\$15,000.00	\$15,000.00	\$11,250.00	\$11,250.00	\$21,000.00	\$21,000.00
618.61	UNIFORMED OFFICERS WITH VEHICLE	\$	28,000.00	\$1.00	\$28,000.00	\$1.00	\$28,000.00	\$1.00	\$28,000.00
618.7	FLAGGERS	HR	3,500.00	\$25.00	\$87,500.00	\$38.00	\$133,000.00	\$33.00	\$115,500.00
619.1	MAINTENANCE OF TRAFFIC	U	1.00	\$91,177.00	\$91,177.00	\$44,300.00	\$44,300.00	\$125,000.00	\$125,000.00
619.25	PORTABLE CHANGEABLE MESSAGE SIGN	U	3.00	\$8,000.00	\$24,000.00	\$15,000.00	\$45,000.00	\$18,400.00	\$55,200.00
619.27	TRAILER-MOUNTED SPEED LIMIT SIGN	U	2.00	\$3,700.00	\$7,400.00	\$15,000.00	\$30,000.00	\$16,100.00	\$32,200.00
619.55	PORTABLE QUEUE WARNING SYSTEM	MON	36.00	\$4,200.00	\$151,200.00	\$2,800.00	\$100,800.00	\$1,000.00	\$36,000.00
621.2	RETROREFLECTIVE BEAM GUARDRAIL DELINEATOR	EA	12.00	\$4.50	\$54.00	\$5.00	\$60.00	\$6.00	\$72.00
621.31	SINGLE DELINEATOR WITH POST	EA	60.00	\$39.00	\$2,340.00	\$48.00	\$2,880.00	\$50.00	\$3,000.00
621.32	DOUBLE DELINEATOR WITH POST	EA	1.00	\$42.00	\$42.00	\$50.00	\$50.00	\$52.00	\$52.00
622.1	STEEL WITNESS MARKERS	EA	50.00	\$28.00	\$1,400.00	\$35.00	\$1,750.00	\$38.00	\$1,900.00
622.2	CONCRETE BOUNDS	EA	44.00	\$445.00	\$19,580.00	\$475.00	\$20,900.00	\$600.00	\$26,400.00
628.2	SAWED BITUMINOUS PAVEMENT	LF	230.00	\$2.25	\$517.50	\$1.50	\$345.00	\$2.00	\$460.00
632.0104	RETROREFLECTIVE PAINT PAVE. MARKING, 4" LINE	LF	94,100.00	\$0.21	\$19,761.00	\$0.19	\$17,879.00	\$0.19	\$17,879.00
632.3118	RETROREFLECT. THERMOPLAS. PAVE. MARKING, 18" LINE	LF	130.00	\$12.50	\$1,625.00	\$10.00	\$1,300.00	\$11.00	\$1,430.00
641.	LOAM	СҮ	500.00	\$32.00	\$16,000.00	\$26.50	\$13,250.00	\$25.00	\$12,500.00
645.3	EROSION STONE	TON	610.00	\$30.00	\$18,300.00	\$27.50	\$16,775.00	\$25.00	\$15,250.00
645.44	TEMPORARY SLOPE STABILIZATION TYPE D (WILDLIFE FRIENDLY)	SY	9,950.00	\$2.20	\$21,890.00	\$2.00	\$19,900.00	\$2.00	\$19,900.00
645.512	COMPOST SOCK FOR PERIMETER BERM	LF	5,300.00	\$4.25	\$22,525.00	\$4.50	\$23,850.00	\$5.00	\$26,500.00
645.531	SILT FENCE	LF	7,000.00	\$2.40	\$16,800.00	\$4.50	\$31,500.00	\$2.50	\$17,500.00
645.7	STORM WATER POLLUTION PREVENTION PLAN	U	1.00	\$5,000.00	\$5,000.00	\$25,000.00	\$25,000.00	\$6,500.00	\$6,500.00
645.71	MONITORING SWPPP AND EROSION AND SEDIMENT CONTROLS	HR	150.00	\$75.00	\$11,250.00	\$65.00	\$9,750.00	\$115.00	\$17,250.00
646.3	TURF ESTABLISHMENT WITH MULCH AND TACKIFIERS	А	9.00	\$2,000.00	\$18,000.00	\$2,500.00	\$22,500.00	\$2,200.00	\$19,800.00
647.1	нимиз	СҮ	4,500.00	\$20.00	\$90,000.00	\$19.00	\$85,500.00	\$25.00	\$112,500.00
670.066	MAILBOX SUPPORT ASSEMBLIES	EA	11.00	\$230.00	\$2,530.00	\$150.00	\$1,650.00	\$150.00	\$1,650.00
670.0661	MULTIPLE MAILBOXES SUPPORT ASSEMBLIES	EA	2.00	\$400.00	\$800.00	\$250.00	\$500.00	\$250.00	\$500.00
670.104	TEMPORARY PORTABLE LIGHTING	U	3.00	\$2,800.00	\$8,400.00	\$5,000.00	\$15,000.00	\$15,000.00	\$45,000.00
670.822	GNSS CONSTRUCTION INSPECTION EQUIPMENT	U	1.00	\$25,000.00	\$25,000.00	\$95,000.00	\$95,000.00	\$20,000.00	\$20,000.00
670.95	TEMPORARY SAFETY FENCE	LF	500.00	\$3.00	\$1,500.00	\$2.50	\$1,250.00	\$15.00	\$7,500.00
692.	MOBILIZATION	U	1.00	\$200,000.00	\$200,000.00	\$331,900.00	\$331,900.00	\$389,000.00	\$389,000.00
697.11	INVASIVE SPECIES CONTROL AND MANAGEMENT PLAN	U	1.00	\$2,000.00	\$2,000.00	\$5,000.00	\$5,000.00	\$2,000.00	\$2,000.00
697.31	PROJECT OPERATIONS PLAN	U	1.00	\$1,500.00	\$1,500.00	\$5,000.00	\$5,000.00	\$2,000.00	\$2,000.00

					PS&E		SUR CONSTRUCTION, INC. 233 Chestnut Hill Road Rochester, NH 03867		RUCTION CO., INC. DUTE 111 DN, NH 03811
Item No.	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	Unit Price	Total
698.13	FIELD OFFICE TYPE C	MON	23.00	\$1,650.00	\$37,950.00	\$2,500.00	\$57,500.00	\$2,100.00	\$48,300.00
698.2	PHYSICAL TESTING LABORATORY	MON	21.00	\$500.00	\$10,500.00	\$900.00	\$18,900.00	\$1,600.00	\$33,600.00
699.	MISCELLANEOUS TEMPORARY EROSION AND SEDIMENT CONTROL	\$	20,000.00	\$1.00	\$20,000.00	\$1.00	\$20,000.00	\$1.00	\$20,000.00
1010.15	FUEL ADJUSTMENT	\$	40,000.00	\$1.00	\$40,000.00	\$1.00	\$40,000.00	\$1.00	\$40,000.00
1010.2	ASPHALT CEMENT ADJUSTMENT	\$	25,000.00	\$1.00	\$25,000.00	\$1.00	\$25,000.00	\$1.00	\$25,000.00
1010.3	QUALITY CONTROL QUALITY ASSURANCE (QC/QA) ASPHALT	\$	33,200.00	\$1.00	\$33,200.00	\$1.00	\$33,200.00	\$1.00	\$33,200.00
			Totals:		\$4,162,554.00		\$5,104,961.75		\$5,415,981.75
			Alt. Totals:						

Totals: \$4,162,554.00 \$5,104,961.75 \$5,415,981.75

				F	°S&E	378 BENN	CORPORATION NOCH ROAD ER, ME 04489		
Item No.	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	Unit Price	Total

211CLEARNO AND GRUBBNA (P)A6.005.00.0057.00.00<			1						 · · · · · · · · · · · · · · · · · · ·
20.881 INVASIVE SPECIES CONTROL TYPE I SY 310.00 55.00 55.00 51.705.00 1 202.41 REMOVAL OF EXISTING PIPE 9.3" DIAMETER LF 170.00 523.00 53.400.00 54.475 58.443.700.00 53.400.00 54.400.00 53.400.00 54.400.00 54.00.	201.1	CLEARING AND GRUBBING (F)	А	5.00	\$5,000.00	\$25,000.00	\$22,400.00	\$112,000.00	
22.41REMOVAL OF EXISTING PIPE 0-24" DIAMETERLF170.00\$2000\$3.400.00\$5.400.00\$3.400.00\$3.400.00203.1COMMON EXCAVATIONCY\$7200.00\$8.50\$646,0000\$14.75\$543,700.00\$1.200203.1COMMON EXCAVATION - LRSCY4.900.00\$14.00\$89,600.00\$14.75\$772,75.00\$1.200203.2ROCK EXCAVATIONCY4.2000\$1.175.00\$2.830.00\$44.80\$84.800\$4.800\$1.400.00203.561EMBANKMENT IN PLACE (F)CY7.895.00\$4.00\$31.400.00\$1.700\$53.700.00\$4.200.00206.1COMMON STRUCTURE EXCAVATIONCY7.895.00\$4.00\$531.000.00\$50.000\$50.000\$50.000206.1COMMON STRUCTURE EXCAVATIONCY10.00\$50.00\$50.000\$50.000\$50.000\$50.000\$50.000\$50.000\$50.000206.2ROCK STRUCTURE EXCAVATIONCY400.00\$50.0	201.22	REMOVING LARGE TREES	EA	3.00	\$1,500.00	\$4,500.00	\$980.00	\$2,940.00	l
203.1 COMMON EXCAVATION CY 57.200.0 S8.50 548.200.00 514.75 S94.3,700.00 CM 203.11 COMMON EXCAVATION -LRS CY 4,900.00 \$14.00 \$548.200.00 \$14.75 \$72.275.0 CM 203.2 ROCK EXCAVATION CY 1,220.00 \$38.00 \$38.00 \$48.00 \$58.600.00 \$84.200.00 \$84.	201.881	INVASIVE SPECIES CONTROL TYPE I	SY	310.00	\$8.00	\$2,480.00	\$5.50	\$1,705.00	
203.11 COMMON EXCAVATION - LRS CY 4,900.00 \$14.00 \$88,800.00 \$14.75 \$72.275.00 203.2 ROCK EXCAVATION CY 1,220.00 \$30.00 \$38,800.00 \$48.00 \$68,800.00 \$48.00 \$68,800.00 \$48.00 \$68,800.00 \$61,75.00 \$61,75.00 \$61,75.00 \$61,75.00 \$61,75.00 \$61,75.00 \$61,800.00 \$60,800.00<	202.41	REMOVAL OF EXISTING PIPE 0-24" DIAMETER	LF	170.00	\$20.00	\$3,400.00	\$20.00	\$3,400.00	
203.2 ROCK EXCAVATION Y 1,220.00 \$30.00 \$36,600.00 \$46.00 \$56,650.00 203.5661 EAGRT PLATFORM PREFERRED U 2.00 \$11,75.00 \$2,380.00 \$2,100.00 \$4,200.00 \$4,200.00 \$4,200.00 \$4,200.00 \$4,200.00 \$4,200.00 \$4,200.00 \$51,700.00 \$51,700.00 \$51,700.00 \$51,700.00 \$51,700.00 \$51,700.00 \$51,700.00 \$51,700.00 \$51,700.00 \$51,700.00 \$51,700.00 \$51,700.00 \$51,700.00 \$51,700.00 \$51,700.00 \$51,700.00 \$50,800.00	203.1	COMMON EXCAVATION	СҮ	57,200.00	\$8.50	\$486,200.00	\$14.75	\$843,700.00	
20.5561 EAGRT PLATFORM PREFERRED U 2.00 \$1,1750 \$2,2300 \$2,1000 \$4,2000 20.5 EMBANKMENT-IN-PLACE (F) CY 7,850.00 \$4.00 \$31,400.00 \$7.00 \$54,500.00 20.5 COMMON STRUCTURE EXCAVATION CY 2,100.00 \$15.00 \$31,500.00 \$17.00 \$35,700.00 206.1 COMMON STRUCTURE EXCAVATION EXPLORATORY CY 10.00 \$50.00 \$30.00 \$30.00.00	203.11	COMMON EXCAVATION - LRS	СҮ	4,900.00	\$14.00	\$68,600.00	\$14.75	\$72,275.00	
203.6 EMBANKMENT-IN-PLACE (F) CY 7,850.00 \$4.00 \$31,400.00 \$7.00 \$54,950.00 206.1 COMMON STRUCTURE EXCAVATION CY 2,100.00 \$51.00 \$51.00.00 \$51.00.00 \$53.00.00 \$53.00.00 \$53.00.00 \$53.00.00 \$53.00.00 \$53.00.00 \$50.00 \$50.00 \$50.000 <	203.2	ROCK EXCAVATION	СҮ	1,220.00	\$30.00	\$36,600.00	\$48.00	\$58,560.00	
266.1 COMMON STRUCTURE EXCAVATION CY 2,100.0 \$15.00 \$31,500.00 \$17.00 \$35,700.00 266.19 COMMON STRUCTURE EXCAVATION EXPLORATORY CY 10.00 \$500.00 \$500.00 \$300.00 \$300.00 266.2 ROCK STRUCTURE EXCAVATION CY 500.00 \$800.00 \$4,000.00 \$225.00 \$11,250.00 209.1 GRANULAR BACKFILL CY 270.00 \$38.00 \$10,260.00 \$40.00 \$10,800.00 214. FINE GRADING U 1.00 \$60,000.00 \$801.500.00 \$80,500.00 304.11 SAND (F) CY 9,670.00 \$18.00 \$174,080.00 \$31.00 \$229,770.00 304.41 CRUSHED GRAVEL FOR SHOULDER LEVELING TON 1,450.00 \$45.00 \$31.00 \$41.00 \$22.375.00 \$44.400.00 \$30.00 \$12.00.00.00 \$44.400.00 \$31.00 \$41.00 \$31.00 \$41.00 </td <td>203.5561</td> <td>EAGRT PLATFORM PREFERRED</td> <td>U</td> <td>2.00</td> <td>\$1,175.00</td> <td>\$2,350.00</td> <td>\$2,100.00</td> <td>\$4,200.00</td> <td></td>	203.5561	EAGRT PLATFORM PREFERRED	U	2.00	\$1,175.00	\$2,350.00	\$2,100.00	\$4,200.00	
206.19 COMMON STRUCTURE EXCAVATION EXPLORATORY CY 10.00 \$50.00 \$500.00 \$30.00.00 \$10.20.00 206.2 ROCK STRUCTURE EXCAVATION CY 50.00 \$80.00 \$40.00.00 \$225.00 \$11.250.00 209.1 GRANULAR BACKFILL CY 270.00 \$580.00 \$60.00.00 \$40.00 \$10.800.00 214. FINE GRADING U 1.00 \$60.000.00 \$60.000.00 \$80.500.00 \$80.500.00 \$80.500.00 \$80.500.00 <	203.6	EMBANKMENT-IN-PLACE (F)	СҮ	7,850.00	\$4.00	\$31,400.00	\$7.00	\$54,950.00	
206.2 ROCK STRUCTURE EXCAVATION CY 50.00 \$80.00 \$4,00.00 \$225.00 \$11,250.00 208.1 GRANULAR BACKFILL CY 270.00 \$380.00 \$10,260.00 \$40.00 \$11,250.00 214. FINE GRADING U 1.00 \$60,000.00 \$60,000.00 \$80,500.00	206.1	COMMON STRUCTURE EXCAVATION	СҮ	2,100.00	\$15.00	\$31,500.00	\$17.00	\$35,700.00	
209.1 GRANULAR BACKFILL CY 270.0 \$38.00 \$10.260.00 \$40.00 \$10.800.00 214. FINE GRADING U 1.00 \$80.000.00 \$80.500.00 <t< td=""><td>206.19</td><td>COMMON STRUCTURE EXCAVATION EXPLORATORY</td><td>СҮ</td><td>10.00</td><td>\$50.00</td><td>\$500.00</td><td>\$300.00</td><td>\$3,000.00</td><td></td></t<>	206.19	COMMON STRUCTURE EXCAVATION EXPLORATORY	СҮ	10.00	\$50.00	\$500.00	\$300.00	\$3,000.00	
214. FINE GRADING U 1.00 \$60,000.00 \$60,000.00 \$80,500.00 \$80,400.00 \$80,449 \$80,4499 \$80,600.00 \$81,000.00 \$81,000.00 \$81,000.00 \$81,000.00 \$81,000.00 \$81,000.00 \$81,000.00 \$81,000.00 \$81,000.00 \$81,000.00 \$81,000.00 \$81,000.00 \$81,000.00 \$81,000.00 \$81,000.00 \$81,000.00 \$81,000.00 \$81	206.2	ROCK STRUCTURE EXCAVATION	СҮ	50.00	\$80.00	\$4,000.00	\$225.00	\$11,250.00	
304.1 SAND (F) CY 9,670.00 \$18.00 \$174,060.00 \$31.00 \$299,770.00 304.1 SAND (F) CY 9,670.00 \$18.00 \$174,060.00 \$31.00 \$299,770.00 304.1 CRUSHED GRAVEL FOR SHOULDER LEVELING TON 1,450.00 \$45.00 \$65,250.00 \$32.00 \$46,400.00 304.4 CRUSHED STONE (FINE GRADATION) (F) CY 5,750.00 \$22.00 \$126,500.00 \$41.00 \$235,750.00 304.45 CRUSHED STONE (FINE GRADATION) FOR DRIVES CY 4,000.00 \$30.00 \$120.000.00 \$44.50 \$176,000.00 304.5 CRUSHED STONE (FINE GRADATION) FO CY 4,400.00 \$30.00 \$132.000.00 \$44.00.00 \$176,000.00 304.5 CRUSHED STONE (COARSE GRADATION) (F) CY 1,083.00 \$22.00 \$238,260.00 \$39.00 \$422,370.00 304.5 CRUSHED STONE (COARSE GRADATION) (F) CY 10,830.00	209.1	GRANULAR BACKFILL	СҮ	270.00	\$38.00	\$10,260.00	\$40.00	\$10,800.00	
304.32 CRUSHED GRAVEL FOR SHOULDER LEVELING TON 1,450.00 \$45.00 \$332.00 \$346,400.00 304.4 CRUSHED STONE (FINE GRADATION) (F) CY 5,750.00 \$22.00 \$126,500.00 \$41.00 \$235,750.00 304.45 CRUSHED STONE (FINE GRADATION) (F) CY 4,000.00 \$30.00 \$120,000.00 \$44.50 \$178,000.00 304.45 CRUSHED STONE (FINE GRADATION) FOR DRIVES CY 4,000.00 \$30.00 \$120,000.00 \$44.50 \$178,000.00 304.49 TEMPORARY CRUSHED STONE (FINE GRADATION) CY 4,400.00 \$30.00 \$132,000.00 \$44.50 \$176,000.00 304.5 CRUSHED STONE (COARSE GRADATION) (F) CY 10,830.00 \$22.00 \$238,260.00 \$39.00 \$422,370.00 403.11001 HOT BITUMINOUS PAVEMENT, MACHINE METHOD TON \$,300.00 \$75.00 \$81.00 \$872,300.00 403.11002 HOT BITUMINOUS PAVEMENT, MACHINE METHOD TON \$,300.00 \$78.00 \$70,200.00 \$84,600.00	214.	FINE GRADING	U	1.00	\$60,000.00	\$60,000.00	\$80,500.00	\$80,500.00	
304.4 CRUSHED STONE (FINE GRADATION) (F) CY 5,750.0 \$22.00 \$126,50.00 \$41.00 \$235,750.00 304.4 CRUSHED STONE (FINE GRADATION) FOR DRIVES CY 4,000.00 \$30.00 \$120,000.00 \$44.50 \$176,000.00 \$30.0 \$120,000.00 \$44.50 \$176,000.00 \$40.00 \$30.00 \$132,000.00 \$40.00 \$176,000.00 \$40.00 \$30.00 \$132,000.00 \$41.00 \$40.00 \$40.00 \$40.00 \$40.00 \$40.00 \$41.00 \$40.00 \$41.00 \$41.00 \$41.00 \$41.00 \$41.00 \$41	304.1	SAND (F)	СҮ	9,670.00	\$18.00	\$174,060.00	\$31.00	\$299,770.00	
304.45 CRUSHED STONE (FINE GRADATION) FOR DRIVES CY 4,000.00 \$30.00 \$120,000.00 \$44.50 \$178,000.00 304.499 TEMPORARY CRUSHED STONE (FINE GRADATION) CY 4,400.00 \$30.00 \$132,000.00 \$44.50 \$176,000.00 304.499 TEMPORARY CRUSHED STONE (FINE GRADATION) CY 4,400.00 \$30.00 \$132,000.00 \$40.00 \$176,000.00 304.5 CRUSHED STONE (COARSE GRADATION) (F) CY 10,830.00 \$22.00 \$238,260.00 \$39.00 \$422,370.00 403.11001 HOT BITUMINOUS PAVEMENT, MACHINE METHOD TON 8,300.00 \$75.00 \$81.00 \$672,300.00 403.11002 HOT BITUMINOUS PAVEMENT, MACHINE METHOD TON 8,300.00 \$76.00 \$81.00 \$84,600.00 403.11002 HOT BITUMINOUS PAVEMENT, MACHINE METHOD TON 350.00 \$125.00 \$81.00 \$84,600.00 403.12 HOT BITUMINOUS PAVEMENT, HAND METHOD TON 350.00 \$14.02	304.32	CRUSHED GRAVEL FOR SHOULDER LEVELING	TON	1,450.00	\$45.00	\$65,250.00	\$32.00	\$46,400.00	
Instruction Instruction <thinstruction< th=""> <thinstruction< th=""></thinstruction<></thinstruction<>	304.4	CRUSHED STONE (FINE GRADATION) (F)	СҮ	5,750.00	\$22.00	\$126,500.00	\$41.00	\$235,750.00	
304.5 CRUSHED STONE (COARSE GRADATION) (F) CY 10,830.00 \$22.00 \$238,260.00 \$39.00 \$422,370.00 403.11001 HOT BITUMINOUS PAVEMENT, MACHINE METHOD TON 8,300.00 \$75.00 \$622,500.00 \$81.00 \$672,300.00	304.45	CRUSHED STONE (FINE GRADATION) FOR DRIVES	СҮ	4,000.00	\$30.00	\$120,000.00	\$44.50	\$178,000.00	
403.11001 HOT BITUMINOUS PAVEMENT, MACHINE METHOD TON 8,300.00 \$75.00 \$622,500.00 \$81.00 \$672,300.00 \$ 403.11002 HOT BITUMINOUS PAVEMENT, MACHINE METHOD TON 900.00 \$78.00 \$70,200.00 \$81.00 \$84,600.00 \$ 403.12 HOT BITUMINOUS PAVEMENT, HAND METHOD TON 350.00 \$125.00 \$43,750.00 \$140.00 \$49,000.00 \$ 403.4 MATERIAL TRANSFER VEHICLE (MTV) TON 99,200.00 \$1.60 \$14,720.00 \$1.75 \$16,100.00 \$ 403.6 PAVEMENT JOINT ADHESIVE LF 21,500.00 \$0.30 \$6,650.00 \$ \$ 403.99 TEMPORARY BITUMINOUS PAVEMENT TON 1,400.00 \$90.00 \$	304.499	TEMPORARY CRUSHED STONE (FINE GRADATION)	СҮ	4,400.00	\$30.00	\$132,000.00	\$40.00	\$176,000.00	
Image:	304.5	CRUSHED STONE (COARSE GRADATION) (F)	СҮ	10,830.00	\$22.00	\$238,260.00	\$39.00	\$422,370.00	
IQC/QA TIER 2)IQC/QA	403.11001		TON	8,300.00	\$75.00	\$622,500.00	\$81.00	\$672,300.00	
403.4 MATERIAL TRANSFER VEHICLE (MTV) TON 9,200.00 \$1.60 \$14,720.00 \$1.75 \$16,100.00 \$16,100.00 \$100	403.11002		TON	900.00	\$78.00	\$70,200.00	\$94.00	\$84,600.00	
403.6 PAVEMENT JOINT ADHESIVE LF 21,500.00 \$0.30 \$6,450.00 \$0.30 \$6,450.00 \$6,	403.12	HOT BITUMINOUS PAVEMENT, HAND METHOD	TON	350.00	\$125.00	\$43,750.00	\$140.00	\$49,000.00	
403.99 TEMPORARY BITUMINOUS PAVEMENT TON 1,400.00 \$90.00 \$126,000.00 \$85.00 \$119,000.00	403.4	MATERIAL TRANSFER VEHICLE (MTV)	TON	9,200.00	\$1.60	\$14,720.00	\$1.75	\$16,100.00	
	403.6	PAVEMENT JOINT ADHESIVE	LF	21,500.00	\$0.30	\$6,450.00	\$0.30	\$6,450.00	
410.22 ASPHALT EMULSION FOR TACK COAT GAL 1,450.00 \$3.20 \$4,640.00 \$4.00 \$5,800.00	403.99	TEMPORARY BITUMINOUS PAVEMENT	TON	1,400.00	\$90.00	\$126,000.00	\$85.00	\$119,000.00	
	410.22	ASPHALT EMULSION FOR TACK COAT	GAL	1,450.00	\$3.20	\$4,640.00	\$4.00	\$5,800.00	
417. COLD PLANING BITUMINOUS SURFACES SY 520.00 \$14.00 \$7,280.00 \$11.50 \$5,980.00	417.	COLD PLANING BITUMINOUS SURFACES	SY	520.00	\$14.00	\$7,280.00	\$11.50	\$5,980.00	
503.101 WATER DIVERSION STRUCTURE U 1.00 \$5,000.00 \$35,100.00 \$35,100.00	503.101	WATER DIVERSION STRUCTURE	U	1.00	\$5,000.00	\$5,000.00	\$35,100.00	\$35,100.00	
503.102 WATER DIVERSION STRUCTURE U 1.00 \$12,000.00 \$35,100.00 \$35,100.00	503.102	WATER DIVERSION STRUCTURE	U	1.00	\$12,000.00	\$12,000.00	\$35,100.00	\$35,100.00	

				PS&E		378 BEN	CORPORATION NOCH ROAD TER, ME 04489		
Item No.	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	Unit Price	Total
503.201	COFFERDAMS	U	1.00	\$15,000.00	\$15,000.00	\$65,400.00	\$65,400.00		
503.202	COFFERDAMS	U	1.00	\$15,000.00	\$15,000.00	\$65,400.00	\$65,400.00		
508.	STRUCTURAL FILL	СҮ	110.00	\$58.50	\$6,435.00	\$52.00	\$5,720.00		
520.12	CONCRETE CLASS A, ABOVE FOOTINGS (F)	СҮ	35.00	\$1,000.00	\$35,000.00	\$900.00	\$31,500.00		
529.8301	PRECAST CONCRETE SPECIAL HEADWALL	U	1.00	\$20,000.00	\$20,000.00	\$69,100.00	\$69,100.00		
529.8302	PRECAST CONCRETE SPECIAL HEADWALL	U	1.00	\$20,000.00	\$20,000.00	\$66,700.00	\$66,700.00		
544.1	REINFORCING STEEL (ROADWAY)	LB	420.00	\$2.00	\$840.00	\$3.00	\$1,260.00		
572.2	RECONSTRUCTING STONE WALL MULTIPLE STONES WIDE	LF	800.00	\$30.00	\$24,000.00	\$35.00	\$28,000.00		
585.2	STONE FILL, CLASS B	СҮ	220.00	\$40.00	\$8,800.00	\$65.00	\$14,300.00		
585.3	STONE FILL, CLASS C	СҮ	30.00	\$50.00	\$1,500.00	\$72.00	\$2,160.00		
593.421	GEOTEXTILE; PERM CONTROL CL.2, NON-WOVEN	SY	870.00	\$3.00	\$2,610.00	\$2.25	\$1,957.50		
603.0001	VIDEO INSPECTION	LF	2,615.00	\$1.50	\$3,922.50	\$2.50	\$6,537.50		
603.00230	30" R.C. PIPE, 2000D	LF	224.00	\$120.00	\$26,880.00	\$190.00	\$42,560.00		
603.00436	36" R.C. PIPE, 3750D	LF	175.00	\$145.00	\$25,375.00	\$220.00	\$38,500.00		
603.00454	54" R.C. PIPE, 3750D	LF	100.00	\$215.00	\$21,500.00	\$450.00	\$45,000.00		
603.34115	15" STEEL END SECTIONS	EA	2.00	\$130.00	\$260.00	\$600.00	\$1,200.00		
603.50015	15" PIPE FOR DRIVES & MINOR APPROACHES	LF	35.00	\$180.00	\$6,300.00	\$65.00	\$2,275.00		
603.82218	18" PE PIPE (TYPE S)	LF	2,100.00	\$37.00	\$77,700.00	\$85.00	\$178,500.00		
604.154	CATCH BASINS TYPE E, 4-FOOT DIAMETER	U	12.30	\$2,500.00	\$30,750.00	\$5,500.00	\$67,650.00		
604.155	CATCH BASINS TYPE E, 5-FOOT DIAMETER	U	4.20	\$3,500.00	\$14,700.00	\$6,900.00	\$28,980.00		
604.325	DRAINAGE MANHOLES, 5-FOOT DIAMETER	U	1.00	\$3,400.00	\$3,400.00	\$7,500.00	\$7,500.00		
605.506	6" PERF. CORR. POLYETHYLENE PIPE UNDERDRAIN	LF	6,950.00	\$18.00	\$125,100.00	\$44.00	\$305,800.00		
605.79	UNDERDRAIN FLUSHING BASINS	EA	35.00	\$400.00	\$14,000.00	\$700.00	\$24,500.00		
606.1254	BEAM GUARDRAIL (TERMINAL UNIT TYPE EAGRT, TL 3) (STEEL POST)	U	2.00	\$2,075.00	\$4,150.00	\$4,000.00	\$8,000.00		
606.18001	31" W-BEAM GUARDRAIL WITH 8" OFFSET BLOCK (STEEL POST)	LF	200.00	\$25.00	\$5,000.00	\$26.50	\$5,300.00		
606.183	31" W-BEAM GUARDRAIL LONG SPAN (25') (STEEL POST)	U	1.00	\$4,500.00	\$4,500.00	\$6,725.00	\$6,725.00		
606.417	PORTABLE CONCRETE BARRIER FOR TRAFFIC CONTROL	LF	1,000.00	\$22.00	\$22,000.00	\$20.00	\$20,000.00		
606.9523	TEMP. IMPACT ATTENUATION DEVICE (NON-REDIRECTIVE) TEST LEVEL 3	U	2.00	\$2,600.00	\$5,200.00	\$4,965.00	\$9,930.00		
615.024	RELOCATING TRAFFIC SIGN TYPE B	U	10.00	\$200.00	\$2,000.00	\$200.00	\$2,000.00		
615.0301	TRAFFIC SIGN TYPE C	SF	150.00	\$32.00	\$4,800.00	\$50.00	\$7,500.00		
615.033	REMOVING TRAFFIC SIGN, TYPE C	U	41.00	\$50.00	\$2,050.00	\$40.00	\$1,640.00		
615.0601	TRAFFIC SIGN TYPE CC	SF	32.00	\$20.00	\$640.00	\$30.00	\$960.00		

					PS&E	378 BEN	CORPORATION NOCH ROAD TER, ME 04489		
Item No.	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	Unit Price	Total
616.201	FLASHING BEACONS	U	1.00	\$15,000.00	\$15,000.00	\$17,850.00	\$17,850.00		
618.61	UNIFORMED OFFICERS WITH VEHICLE	\$	28,000.00	\$1.00	\$28,000.00	\$1.00	\$28,000.00		
618.7	FLAGGERS	HR	3,500.00	\$25.00	\$87,500.00	\$38.75	\$135,625.00		
619.1	MAINTENANCE OF TRAFFIC	U	1.00	\$91,177.00	\$91,177.00	\$175,115.00	\$175,115.00		
619.25	PORTABLE CHANGEABLE MESSAGE SIGN	U	3.00	\$8,000.00	\$24,000.00	\$13,000.00	\$39,000.00		
619.27	TRAILER-MOUNTED SPEED LIMIT SIGN	U	2.00	\$3,700.00	\$7,400.00	\$13,000.00	\$26,000.00		
619.55	PORTABLE QUEUE WARNING SYSTEM	MON	36.00	\$4,200.00	\$151,200.00	\$3,250.00	\$117,000.00		
621.2	RETROREFLECTIVE BEAM GUARDRAIL DELINEATOR	EA	12.00	\$4.50	\$54.00	\$5.75	\$69.00		
621.31	SINGLE DELINEATOR WITH POST	EA	60.00	\$39.00	\$2,340.00	\$55.00	\$3,300.00		
621.32	DOUBLE DELINEATOR WITH POST	EA	1.00	\$42.00	\$42.00	\$60.00	\$60.00		
622.1	STEEL WITNESS MARKERS	EA	50.00	\$28.00	\$1,400.00	\$40.00	\$2,000.00		
622.2	CONCRETE BOUNDS	EA	44.00	\$445.00	\$19,580.00	\$490.00	\$21,560.00		
628.2	SAWED BITUMINOUS PAVEMENT	LF	230.00	\$2.25	\$517.50	\$4.00	\$920.00		
632.0104	RETROREFLECTIVE PAINT PAVE. MARKING, 4" LINE	LF	94,100.00	\$0.21	\$19,761.00	\$0.30	\$28,230.00		
632.3118	RETROREFLECT. THERMOPLAS. PAVE. MARKING, 18" LINE	LF	130.00	\$12.50	\$1,625.00	\$20.00	\$2,600.00		
641.	LOAM	СҮ	500.00	\$32.00	\$16,000.00	\$40.00	\$20,000.00		
645.3	EROSION STONE	TON	610.00	\$30.00	\$18,300.00	\$70.00	\$42,700.00		
645.44	TEMPORARY SLOPE STABILIZATION TYPE D (WILDLIFE FRIENDLY)	SY	9,950.00	\$2.20	\$21,890.00	\$3.50	\$34,825.00		
645.512	COMPOST SOCK FOR PERIMETER BERM	LF	5,300.00	\$4.25	\$22,525.00	\$7.00	\$37,100.00		
645.531	SILT FENCE	LF	7,000.00	\$2.40	\$16,800.00	\$4.00	\$28,000.00		
645.7	STORM WATER POLLUTION PREVENTION PLAN	U	1.00	\$5,000.00	\$5,000.00	\$3,600.00	\$3,600.00		
645.71	MONITORING SWPPP AND EROSION AND SEDIMENT CONTROLS	HR	150.00	\$75.00	\$11,250.00	\$115.00	\$17,250.00		
646.3	TURF ESTABLISHMENT WITH MULCH AND TACKIFIERS	А	9.00	\$2,000.00	\$18,000.00	\$2,500.00	\$22,500.00		
647.1	нимиѕ	СҮ	4,500.00	\$20.00	\$90,000.00	\$25.00	\$112,500.00		
670.066	MAILBOX SUPPORT ASSEMBLIES	EA	11.00	\$230.00	\$2,530.00	\$475.00	\$5,225.00		
670.0661	MULTIPLE MAILBOXES SUPPORT ASSEMBLIES	EA	2.00	\$400.00	\$800.00	\$825.00	\$1,650.00		
670.104	TEMPORARY PORTABLE LIGHTING	U	3.00	\$2,800.00	\$8,400.00	\$9,000.00	\$27,000.00		
670.822	GNSS CONSTRUCTION INSPECTION EQUIPMENT	U	1.00	\$25,000.00	\$25,000.00	\$74,900.00	\$74,900.00		
670.95	TEMPORARY SAFETY FENCE	LF	500.00	\$3.00	\$1,500.00	\$5.00	\$2,500.00		
692.	MOBILIZATION	U	1.00	\$200,000.00	\$200,000.00	\$665,000.00	\$665,000.00		
697.11	INVASIVE SPECIES CONTROL AND MANAGEMENT PLAN	U	1.00	\$2,000.00	\$2,000.00	\$700.00	\$700.00		
697.31	PROJECT OPERATIONS PLAN	U	1.00	\$1,500.00	\$1,500.00	\$3,000.00	\$3,000.00		

					PS&E		SARGENT CORPORATION 378 BENNOCH ROAD STILLWATER, ME 04489		
Item No.	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	Unit Price	Total
698.13	FIELD OFFICE TYPE C	MON	23.00	\$1,650.00	\$37,950.00	\$1,000.00	\$23,000.00		
698.2	PHYSICAL TESTING LABORATORY	MON	21.00	\$500.00	\$10,500.00	\$500.00	\$10,500.00		
699.	MISCELLANEOUS TEMPORARY EROSION AND SEDIMENT CONTROL	\$	20,000.00	\$1.00	\$20,000.00	\$1.00	\$20,000.00		
1010.15	FUEL ADJUSTMENT	\$	40,000.00	\$1.00	\$40,000.00	\$1.00	\$40,000.00		
1010.2	ASPHALT CEMENT ADJUSTMENT	\$	25,000.00	\$1.00	\$25,000.00	\$1.00	\$25,000.00		
1010.3	QUALITY CONTROL QUALITY ASSURANCE (QC/QA) ASPHALT	\$	33,200.00	\$1.00	\$33,200.00	\$1.00	\$33,200.00		
			Totals:		\$4,162,554.00		\$6,692,734.00		
			Alt. Totals:						

_			
Totala	\$4,162,554,00	\$6,692,734,00	
Totals:	\$4,102,354.00	\$0,032,734.00	



BARNSTEAD-ALTON

14121

X-A000(208)

				A-Bide	der	PS8	έE	
ltem No.	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	A-PS&E Difference
Items								
201.1	CLEARING AND GRUBBING (F)	A	5.00	\$10,000.00	\$50,000.00	\$5,000.00	\$25,000.00	\$25,000.00
201.22	REMOVING LARGE TREES	EA	3.00	\$900.00	\$2,700.00	\$1,500.00	\$4,500.00	(\$1,800.00)
201.881	INVASIVE SPECIES CONTROL TYPE I	SY	310.00	\$11.00	\$3,410.00	\$8.00	\$2,480.00	\$930.00
202.41	REMOVAL OF EXISTING PIPE 0-24" DIAMETER	LF	170.00	\$18.00	\$3,060.00	\$20.00	\$3,400.00	(\$340.00)
203.1	COMMON EXCAVATION	CY	57,200.00	\$6.90	\$394,680.00	\$8.50	\$486,200.00	(\$91,520.00)
203.11	COMMON EXCAVATION - LRS	CY	4,900.00	\$10.10	\$49,490.00	\$14.00	\$68,600.00	(\$19,110.00)
203.2	ROCK EXCAVATION	CY	1,220.00	\$40.00	\$48,800.00	\$30.00	\$36,600.00	\$12,200.00
203.5561	EAGRT PLATFORM PREFERRED	U	2.00	\$1,200.00	\$2,400.00	\$1,175.00	\$2,350.00	\$50.00
203.6	EMBANKMENT-IN-PLACE (F)	CY	7,850.00	\$2.20	\$17,270.00	\$4.00	\$31,400.00	(\$14,130.00)
206.1	COMMON STRUCTURE EXCAVATION	CY	2,100.00	\$6.90	\$14,490.00	\$15.00	\$31,500.00	(\$17,010.00)
206.19	COMMON STRUCTURE EXCAVATION EXPLORATORY	СҮ	10.00	\$140.00	\$1,400.00	\$50.00	\$500.00	\$900.00
206.2	ROCK STRUCTURE EXCAVATION	CY	50.00	\$130.00	\$6,500.00	\$80.00	\$4,000.00	\$2,500.00
209.1	GRANULAR BACKFILL	СҮ	270.00	\$36.00	\$9,720.00	\$38.00	\$10,260.00	(\$540.00)
214.	FINE GRADING	U	1.00	\$33,000.00	\$33,000.00	\$60,000.00	\$60,000.00	(\$27,000.00)
304.1	SAND (F)	CY	9,670.00	\$19.20	\$185,664.00	\$18.00	\$174,060.00	\$11,604.00

304.32	CRUSHED GRAVEL FOR SHOULDER LEVELING	TON	1,450.00	\$27.00	\$39,150.00	\$45.00	\$65,250.00	(\$26,100.00)
304.4	CRUSHED STONE (FINE GRADATION) (F)	СҮ	5,750.00	\$27.00	\$155,250.00	\$22.00	\$126,500.00	\$28,750.00
304.45	CRUSHED STONE (FINE GRADATION) FOR DRIVES	СҮ	4,000.00	\$27.00	\$108,000.00	\$30.00	\$120,000.00	(\$12,000.00)
304.499	TEMPORARY CRUSHED STONE (FINE GRADATION)	СҮ	4,400.00	\$32.00	\$140,800.00	\$30.00	\$132,000.00	\$8,800.00
304.5	CRUSHED STONE (COARSE GRADATION) (F)	CY	10,830.00	\$27.00	\$292,410.00	\$22.00	\$238,260.00	\$54,150.00
403.11001	HOT BITUMINOUS PAVEMENT, MACHINE METHOD (QC/QA TIER 1)	TON	8,300.00	\$71.00	\$589,300.00	\$75.00	\$622,500.00	(\$33,200.00)
403.11002	HOT BITUMINOUS PAVEMENT, MACHINE METHOD (QC/QA TIER 2)	TON	900.00	\$82.00	\$73,800.00	\$78.00	\$70,200.00	\$3,600.00
403.12	HOT BITUMINOUS PAVEMENT, HAND METHOD	TON	350.00	\$123.00	\$43,050.00	\$125.00	\$43,750.00	(\$700.00)
403.4	MATERIAL TRANSFER VEHICLE (MTV)	TON	9,200.00	\$1.50	\$13,800.00	\$1.60	\$14,720.00	(\$920.00)
403.6	PAVEMENT JOINT ADHESIVE	LF	21,500.00	\$0.23	\$4,945.00	\$0.30	\$6,450.00	(\$1,505.00)
403.99	TEMPORARY BITUMINOUS PAVEMENT	TON	1,400.00	\$85.00	\$119,000.00	\$90.00	\$126,000.00	(\$7,000.00)
410.22	ASPHALT EMULSION FOR TACK COAT	GAL	1,450.00	\$3.50	\$5,075.00	\$3.20	\$4,640.00	\$435.00
417.	COLD PLANING BITUMINOUS SURFACES	SY	520.00	\$10.00	\$5,200.00	\$14.00	\$7,280.00	(\$2,080.00)
503.101	WATER DIVERSION STRUCTURE	U	1.00	\$4,500.00	\$4,500.00	\$5,000.00	\$5,000.00	(\$500.00)
503.102	WATER DIVERSION STRUCTURE	U	1.00	\$9,000.00	\$9,000.00	\$12,000.00	\$12,000.00	(\$3,000.00)
503.201	COFFERDAMS	U	1.00	\$11,000.00	\$11,000.00	\$15,000.00	\$15,000.00	(\$4,000.00)
503.202	COFFERDAMS	U	1.00	\$11,000.00	\$11,000.00	\$15,000.00	\$15,000.00	(\$4,000.00)
508.	STRUCTURAL FILL	СҮ	110.00	\$55.00	\$6,050.00	\$58.50	\$6,435.00	(\$385.00)
520.12	CONCRETE CLASS A, ABOVE FOOTINGS (F)	СҮ	35.00	\$1,100.00	\$38,500.00	\$1,000.00	\$35,000.00	\$3,500.00
529.8301	PRECAST CONCRETE SPECIAL HEADWALL	U	1.00	\$34,000.00	\$34,000.00	\$20,000.00	\$20,000.00	\$14,000.00
529.8302	PRECAST CONCRETE SPECIAL HEADWALL	U	1.00	\$34,000.00	\$34,000.00	\$20,000.00	\$20,000.00	\$14,000.00
544.1	REINFORCING STEEL (ROADWAY)	LB	420.00	\$4.00	\$1,680.00	\$2.00	\$840.00	\$840.00
572.2	RECONSTRUCTING STONE WALL MULTIPLE STONES WIDE	LF	800.00	\$45.00	\$36,000.00	\$30.00	\$24,000.00	\$12,000.00

585.2	STONE FILL, CLASS B	CY	220.00	\$50.00	\$11,000.00	\$40.00	\$8,800.00	\$2,200.00
585.3	STONE FILL, CLASS C	CY	30.00	\$55.00	\$1,650.00	\$50.00	\$1,500.00	\$150.00
593.421	GEOTEXTILE; PERM CONTROL CL.2, NON- WOVEN	SY	870.00	\$3.25	\$2,827.50	\$3.00	\$2,610.00	\$217.50
603.0001	VIDEO INSPECTION	LF	2,615.00	\$2.70	\$7,060.50	\$1.50	\$3,922.50	\$3,138.00
603.00230	30" R.C. PIPE, 2000D	LF	224.00	\$125.00	\$28,000.00	\$120.00	\$26,880.00	\$1,120.00
603.00436	36" R.C. PIPE, 3750D	LF	175.00	\$145.00	\$25,375.00	\$145.00	\$25,375.00	\$0.00
603.00454	54" R.C. PIPE, 3750D	LF	100.00	\$295.00	\$29,500.00	\$215.00	\$21,500.00	\$8,000.00
603.34115	15" STEEL END SECTIONS	EA	2.00	\$390.00	\$780.00	\$130.00	\$260.00	\$520.00
603.50015	15" PIPE FOR DRIVES & MINOR APPROACHES	LF	35.00	\$51.00	\$1,785.00	\$180.00	\$6,300.00	(\$4,515.00)
603.82218	18" PE PIPE (TYPE S)	LF	2,100.00	\$59.25	\$124,425.00	\$37.00	\$77,700.00	\$46,725.00
604.154	CATCH BASINS TYPE E, 4-FOOT DIAMETER	U	12.30	\$2,900.00	\$35,670.00	\$2,500.00	\$30,750.00	\$4,920.00
604.155	CATCH BASINS TYPE E, 5-FOOT DIAMETER	U	4.20	\$3,100.00	\$13,020.00	\$3,500.00	\$14,700.00	(\$1,680.00)
604.325	DRAINAGE MANHOLES, 5-FOOT DIAMETER	U	1.00	\$4,700.00	\$4,700.00	\$3,400.00	\$3,400.00	\$1,300.00
605.506	6" PERF. CORR. POLYETHYLENE PIPE UNDERDRAIN	LF	6,950.00	\$17.70	\$123,015.00	\$18.00	\$125,100.00	(\$2,085.00)
605.79	UNDERDRAIN FLUSHING BASINS	EA	35.00	\$270.00	\$9,450.00	\$400.00	\$14,000.00	(\$4,550.00)
606.1254	BEAM GUARDRAIL (TERMINAL UNIT TYPE EAGRT, TL 3) (STEEL POST)	U	2.00	\$3,485.00	\$6,970.00	\$2,075.00	\$4,150.00	\$2,820.00
606.18001	31" W-BEAM GUARDRAIL WITH 8" OFFSET BLOCK (STEEL POST)	LF	200.00	\$23.00	\$4,600.00	\$25.00	\$5,000.00	(\$400.00)
606.183	31" W-BEAM GUARDRAIL LONG SPAN (25') (STEEL POST)	U	1.00	\$5,850.00	\$5,850.00	\$4,500.00	\$4,500.00	\$1,350.00
606.417	PORTABLE CONCRETE BARRIER FOR TRAFFIC CONTROL	LF	1,000.00	\$27.00	\$27,000.00	\$22.00	\$22,000.00	\$5,000.00
606.9523	TEMP. IMPACT ATTENUATION DEVICE (NON-REDIRECTIVE) TEST LEVEL 3	U	2.00	\$6,000.00	\$12,000.00	\$2,600.00	\$5,200.00	\$6,800.00
615.024	RELOCATING TRAFFIC SIGN TYPE B	U	10.00	\$50.00	\$500.00	\$200.00	\$2,000.00	(\$1,500.00)
615.0301	TRAFFIC SIGN TYPE C	SF	150.00	\$50.50	\$7,575.00	\$32.00	\$4,800.00	\$2,775.00
615.033	REMOVING TRAFFIC SIGN, TYPE C	U	41.00	\$10.00	\$410.00	\$50.00	\$2,050.00	(\$1,640.00)

615.0601	TRAFFIC SIGN TYPE CC	SF	32.00	\$15.00	\$480.00	\$20.00	\$640.00	(\$160.00)
616.201	FLASHING BEACONS	U	1.00	\$14,250.00	\$14,250.00	\$15,000.00	\$15,000.00	(\$750.00)
618.61	UNIFORMED OFFICERS WITH VEHICLE	\$	28,000.00	\$1.00	\$28,000.00	\$1.00	\$28,000.00	\$0.00
618.7	FLAGGERS	HR	3,500.00	\$37.00	\$129,500.00	\$25.00	\$87,500.00	\$42,000.00
619.1	MAINTENANCE OF TRAFFIC	U	1.00	\$115,000.00	\$115,000.00	\$91,177.00	\$91,177.00	\$23,823.00
619.25	PORTABLE CHANGEABLE MESSAGE SIGN	U	3.00	\$3,300.00	\$9,900.00	\$8,000.00	\$24,000.00	(\$14,100.00)
619.27	TRAILER-MOUNTED SPEED LIMIT SIGN	U	2.00	\$1,700.00	\$3,400.00	\$3,700.00	\$7,400.00	(\$4,000.00)
619.55	PORTABLE QUEUE WARNING SYSTEM	MON	36.00	\$2,800.00	\$100,800.00	\$4,200.00	\$151,200.00	(\$50,400.00)
621.2	RETROREFLECTIVE BEAM GUARDRAIL DELINEATOR	EA	12.00	\$5.00	\$60.00	\$4.50	\$54.00	\$6.00
621.31	SINGLE DELINEATOR WITH POST	EA	60.00	\$50.00	\$3,000.00	\$39.00	\$2,340.00	\$660.00
621.32	DOUBLE DELINEATOR WITH POST	EA	1.00	\$55.00	\$55.00	\$42.00	\$42.00	\$13.00
622.1	STEEL WITNESS MARKERS	EA	50.00	\$45.00	\$2,250.00	\$28.00	\$1,400.00	\$850.00
622.2	CONCRETE BOUNDS	EA	44.00	\$245.00	\$10,780.00	\$445.00	\$19,580.00	(\$8,800.00)
628.2	SAWED BITUMINOUS PAVEMENT	LF	230.00	\$3.15	\$724.50	\$2.25	\$517.50	\$207.00
632.0104	RETROREFLECTIVE PAINT PAVE. MARKING, 4" LINE	LF	94,100.00	\$0.20	\$18,820.00	\$0.21	\$19,761.00	(\$941.00)
632.3118	RETROREFLECT. THERMOPLAS. PAVE. MARKING, 18" LINE	LF	130.00	\$10.00	\$1,300.00	\$12.50	\$1,625.00	(\$325.00)
641.	LOAM	CY	500.00	\$21.00	\$10,500.00	\$32.00	\$16,000.00	(\$5,500.00)
645.3	EROSION STONE	TON	610.00	\$22.65	\$13,816.50	\$30.00	\$18,300.00	(\$4,483.50)
645.44	TEMPORARY SLOPE STABILIZATION TYPE D (WILDLIFE FRIENDLY)	SY	9,950.00	\$2.00	\$19,900.00	\$2.20	\$21,890.00	(\$1,990.00)
645.512	COMPOST SOCK FOR PERIMETER BERM	LF	5,300.00	\$5.90	\$31,270.00	\$4.25	\$22,525.00	\$8,745.00
645.531	SILT FENCE	LF	7,000.00	\$2.70	\$18,900.00	\$2.40	\$16,800.00	\$2,100.00
645.7	STORM WATER POLLUTION PREVENTION PLAN	U	1.00	\$3,300.00	\$3,300.00	\$5,000.00	\$5,000.00	(\$1,700.00)
645.71	MONITORING SWPPP AND EROSION AND SEDIMENT CONTROLS	HR	150.00	\$70.00	\$10,500.00	\$75.00	\$11,250.00	(\$750.00)

646.3	TURF ESTABLISHMENT WITH MULCH AND TACKIFIERS	А	9.00	\$2,280.00	\$20,520.00	\$2,000.00	\$18,000.00	\$2,520.00
647.1	HUMUS	СҮ	4,500.00	\$15.00	\$67,500.00	\$20.00	\$90,000.00	(\$22,500.00)
670.066	MAILBOX SUPPORT ASSEMBLIES	EA	11.00	\$220.00	\$2,420.00	\$230.00	\$2,530.00	(\$110.00)
670.0661	MULTIPLE MAILBOXES SUPPORT ASSEMBLIES	EA	2.00	\$325.00	\$650.00	\$400.00	\$800.00	(\$150.00)
670.104	TEMPORARY PORTABLE LIGHTING	U	3.00	\$6,000.00	\$18,000.00	\$2,800.00	\$8,400.00	\$9,600.00
670.822	GNSS CONSTRUCTION INSPECTION EQUIPMENT	U	1.00	\$17,000.00	\$17,000.00	\$25,000.00	\$25,000.00	(\$8,000.00)
670.95	TEMPORARY SAFETY FENCE	LF	500.00	\$5.00	\$2,500.00	\$3.00	\$1,500.00	\$1,000.00
692.	MOBILIZATION	U	1.00	\$150,000.00	\$150,000.00	\$200,000.00	\$200,000.00	(\$50,000.00)
697.11	INVASIVE SPECIES CONTROL AND MANAGEMENT PLAN	U	1.00	\$2,000.00	\$2,000.00	\$2,000.00	\$2,000.00	\$0.00
697.31	PROJECT OPERATIONS PLAN	U	1.00	\$5,000.00	\$5,000.00	\$1,500.00	\$1,500.00	\$3,500.00
698.13	FIELD OFFICE TYPE C	MON	23.00	\$2,500.00	\$57,500.00	\$1,650.00	\$37,950.00	\$19,550.00
698.2	PHYSICAL TESTING LABORATORY	MON	21.00	\$1,800.00	\$37,800.00	\$500.00	\$10,500.00	\$27,300.00
699.	MISCELLANEOUS TEMPORARY EROSION AND SEDIMENT CONTROL	\$	20,000.00	\$1.00	\$20,000.00	\$1.00	\$20,000.00	\$0.00
1010.15	FUEL ADJUSTMENT	\$	40,000.00	\$1.00	\$40,000.00	\$1.00	\$40,000.00	\$0.00
1010.2	ASPHALT CEMENT ADJUSTMENT	\$	25,000.00	\$1.00	\$25,000.00	\$1.00	\$25,000.00	\$0.00
1010.3	QUALITY CONTROL QUALITY ASSURANCE (QC/QA) ASPHALT	\$	33,200.00	\$1.00	\$33,200.00	\$1.00	\$33,200.00	\$0.00

Total:

\$4,126,853.00 \$4,162,554.00

(\$35,701.00)